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M = 800.5303 kgf/m®
W = 7850 kg/m’
Es=2.00E+06 kg/cm®
u=03 -
A=1.17E-05 1/C
Fy= 2400 kg/cm2
Fu= 3700 kg/cm’
M = 245 kgf/m’
W = 2400 kg/m*

E. = (3300/f"; + 6900) (;/_;)

U=0.15 -
A= 9.90E-06 1/C
f'e= 3059149  kgf/m?
S400
Fyx = 400 Mpa
Fsu = 600 Mpa
5340
Fyk = 340 Mpa
Fsu = 500 Mpa

1.5

2.4 KN/m>
——>  E.=2.66212E409  gf/m>
—> E.=266212 Mpa
—> f=30 Mpa

ol 0l did)S 123 55 il a3 e

Flas Olasive
1 Y Whas wlasiin

HOPLRCENEN IS
D Ygd e U9 ()9
: i Jgde
DOgley cued

s Aol bl cop
tQle el

10-1-4

Doyl o wlhas wlasin

R e >y
DO e >l O)9
: doiwdl Jode

9-13-7

P Ogwlg op
: dob> bl o
7o GHlid Cwglio

13,80k Wlhasine
Fdob saSka o)
FQle g

9-4-1-3

s 92y S, She o)
t gl W

10y LSU&JL)

Ol Sl 039 4 bgaye 0350 Slasb




s olb Jl cadw
- J>) )
@l oo s Sl [/ Colius P> J=>19 O)9 992 L,SO_)B
1 o9l S 0.02 2500 50
2 Olaus dusle o 0.025 2100 52.5
3 (R p98) S (R0 0.075 500 37.5
4 Jgene dule 9 (b b (0 0.07 2500 175
5 O3 Ch g oy 9 7S ilmae 0.01 1850 18.5
5= 3335  kg/m? = 334 kg/m’
DL= 175 keg/m’ Sgd (2 denloxa 31 05 Jawgd e 4 A2 g3 b
SDLmin =200 kg, SDL= 158.5 kg/m> —> SDL = 200
5
6
7
- J>) )
@l oo s S [/ Coldus P> J=>19 O)9 902 bsu)j
1 S Sesl w5 0.01 2100 21
2 Olasus dusle o 0.02 2100 42
3 Y 93 395148 (355 - 15 15
4 Olowes desle o 0.02 2100 42
5 (Fo p98) S (R0 0.1 500 50
6 Jgare dulo 9 (p b (o 0.07 2500 175
7 O3 Ch g oy 9 7S ilmae 0.01 1850 18.5
5= 363.5 kg/m> = 364 kg/m
DL= 175 kg/m’ Dods g deulme 531 05 Jawgd (GHludde 4 dzg3 b
SDLmin =300 kg, SDL = 188.5 kg/m> —> SDL = 300

26, 1-6 Cong

26, 1-6 g
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1 o9l S 0.02 2500 50
2 Oloses dunle o 0.025 2100 52.5
3 Ologw 9 Jdae dSa b (o 0.05 1300 65
4 Jgene dule 9 (b b (0 0.07 2500 175
7 D36 Caliaw Cagr iy 9 7S i 0.01 1850 18.5
= 361 kg/m’ = 361 kg/m’
DL= 175 kg/m’ Do (2 dloa 131 055 Jags SHludde 4 axg3 b
SDLwin= 250 kg, SDL = 186 kg/m’° —> SDL = 250
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@l oo B Sl [ Coldus P> J=>19 O)9 902 L,SO_)B
1 S Seslpw (56 0.01 2100 21
2 Olows dusle o 0.02 2100 42
3 S 4y 0.3 1400 420
5= 483 kg/m” = 483 kg/m

26, 1-6 Cong

26, 1-6 g
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L=3.3 m
h=3.6 m 0= 28.61 Deg.
1 (OD9ly) dy Soww 0.055 2500 137.50
2 Oloxa duslo Mo 0.030 2100 63.00
3 (o p99) S (o 0.100 500 50.00
4 20cm Cuwlos 4 i JIs 0.228 2400 546.76 3
5 ol 1.0 &8 9 ilw 1.5 Sls 5 &8 1.139 37 42.15 }
[V}
3= 839.41 = 840.00 kg/m” —
w0
:l.@.)_)flg 29 o~
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el o 93 Slal [/ caalied | ez U9 09 93 5 09
1 o9l S 0.02 2500 50
2 Oloxa duslo o 0.02 2100 42
3 (o p99) S (o 0.05 500 25
4 Jdgeme dwlo 9 5 b S0 0.15 2400 360
5 il 1.0g8 9 il 1.5 S 9 &8 0.01 37 0.37
5= 477.37 = 478 kg/m’
358L o2yt 1.25 m
sy oy sl §NSL
B=24 m L5 Gy 4 oy JIs o8 4S5 Jsbo
L=3.3 m
L'=1.25 m
w= 19835 kg/m
W = 682 kg/m : 413 ol U"‘S“’ )be.))‘.g
W = 2665.5  kg/m sl ol Lo oafiuS 8350 b
Wr = 1450.0  kg/m sl oy Lo 03 uS 0ul) )b




Vn=1.00 m/s
Wen = 630 kg
W, =250 kg
Wpn = 250 kg
Woin = 1100 kg
Woan = 600 kg

n=2 -

N=28 -

Wy = 4400 kg
Winono. = 1500 kg
b, = 1100 mm
d, = 1400 mm
ch=2200 mm
b, = 1800 mm
d, = 2100 mm
E,, = 800 mm
E,= 2000 mm
d; = 1700 mm
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L=2 m
B=16 m
LL=36 KN/m?

1250

TR

gl 055 51
sl @61 sla)

—> lWy=1152 KN

:)ML»T ‘éu“}s‘).&zﬁ )L')
1.3 KN
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n=3g - D dLan S A (Slg gie dluad
A=86 m? g Ao) didny> b Colue
Wb =41366.0 kg o3 0358 )b 4 bgiye MASS b
W= 2580 kg oy 043) )b 4 bgsye MASS b
Wr=143946.0 kg  didoys S 4 bgyye MASS 5L
Pm=54933 Kg ity Slggiw 4 by MASS 108 )
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ol g [ e | d=lg Ojg | 0o S 09
Slaas x> @]cua NESTY
1 o9l S 0.02 2500 50
2 Olases darle o 0.025 2100 52.5
3 Ologw 9 Jdae 4S9 b (s 0.05 1300 65
4 Joene duwle 9 58 b b 0.2 2400 480
2= 6475 kg/mz = 648 kg/m2
(%) G s 15 —» DL= 655
s yg7me dy yg==e dlold $=538 m

DL= 1899.5 kg/m
LL = 870.0 kg/m

Olpgs Ol (qwdige pllas Sloialy dA83-11.4
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Al Cipa g dai [ Cudiim | s asls 0 h’;:su”
1 = @ 0.015 1300 19.5
2 Sl S ok 0.015 1600 24
3 cm 14.5 culaa L S S h 10 9.5 95
4 Olags dasbe 0l 0.015 2100 31.5
170 = 170 kg/m*
= D el Yoo lad g
e S S5l Gt )
2 et S
3 /_
4 Zm—
5
e
oy —
A
E iy st i | oy | AT
1 = ok 0.015 1300 19.5
2 Sl S ol 0.015 1600 24
3 cm 19 culiin L 8 Sl 10 12 120
4 Olasas 4l 0l 0.015 2100 31.5
5 s i K 0.02 2500 50
245 ~ 245 kg/m?
OPENING (%) = 0.3 5 (w)= 171.5

2-6, 1-6 i gn
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1 sl K 0.013 2500 32
2 Clazes 4usle <5l 0.015 2100 31.5
3 cm 14.5 culaa LS S b 10 9.5 95
4 ot 4nle Dk 0.015 2100 31.5
5 s i K 0.02 2500 50
240 ~ 240 kg/m?
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n=27 s lida alasd

Wp1 = 99 kg/m? = 0.971 KN/m? 2Yrem Ll mha asls s

We2 = 112 kg/m? = 1.098  KN/m? Yeom Ll gl sl s
. TT
. d}L d}b 21 b | gl cdim| Gy | 9P| Jalas
adh BrE BN BSOS S8 |k s | (m) s | (m) Gl [0l Calie s
10cm 20cm ' kgadis sla o
e R) 290 100 300 2.70 0.50 -12.85 | 117735 | 2155.0 100.0
-V Kas L 290 100 300 2.70 0.50 -9.65 117735 | 2155.0 100.0
-V Kas b 290 100 300 3.20 0.50 -6.45 137690 | 2155.0 100.0
S Kas b 290 100 300 2.70 0.50 -2.75 117735 | 2155.0 100.0
iSan 290 100 300 4.70 0.50 0.45 197555 | 2155.0 100.0
Jdsl 290 100 200 3.10 0.50 5.65 133699 | 1353.0 100.0
asd 290 100 200 3.10 0.50 9.25 133699 | 1353.0 100.0
o 290 100 200 3.10 0.50 12.85 | 133699 | 1353.0 100.0
PPN 290 100 200 3.10 0.50 16.45 | 133699 | 1353.0 100.0
PNt 290 100 200 3.10 0.50 20.05 | 133699 | 1353.0 100.0
e 290 100 200 3.10 0.50 23.65 | 133699 | 1353.0 100.0
Alaa 290 100 200 3.10 0.50 27.25 | 133699 | 1353.0 100.0
pldia 290 100 200 3.10 0.50 30.85 | 133699 | 1353.0 100.0
add 290 100 200 3.10 0.50 34.45 | 133699 | 1353.0 100.0
At 290 100 200 3.10 0.50 38.05 | 133699 | 1353.0 100.0
a2l 290 100 200 3.10 0.50 4165 | 133699 [ 1353.0 100.0
a2 ) 5 290 100 200 3.10 0.50 45.25 | 133699 | 1353.0 100.0
A8 290 100 200 3.10 0.50 48.85 | 133699 | 1353.0 100.0
A lea 290 100 200 3.10 0.50 52.45 | 133699 | 1353.0 100.0
o3 ik 290 100 200 3.10 0.50 56.05 | 133699 | 1353.0 100.0
a2 la 290 100 200 3.10 0.50 59.65 | 133699 | 1353.0 100.0
PURLES 290 100 200 3.10 0.50 63.25 | 133699 | 1353.0 100.0
FESEN Y 290 100 200 3.10 0.50 66.85 | 133699 | 1353.0 100.0
a2 5 290 100 200 3.10 0.50 70.45 | 133699 | 1353.0 100.0
Al 290 100 200 3.10 0.50 74.05 | 133699 | 1353.0 100.0
25 5 oy 290 100 200 3.10 0.50 77.65 | 133699 | 1353.0 100.0
a5 5 Sy 290 100 200 3.10 0.50 81.25 | 133699 | 1353.0 100.0
ab 50 20 200 3.10 0.50 84.85 |24086.5| 1353.0 100.0

2-2-2-6 , 3-2-2-6 , 4-2-2-6 , 5-2-2-6




B Sh (B gal i sla ) g
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Ww1 = 176.0 kg/m? = 1.73 KN/m? 5 PRI R UL PYCR L EN PR )
Wwz = 170 kg/m? = 1.67 KN/m? AN ICP I PRY RN PSP
Wws = 220 kg/m? = 2.16 KN/m? D5k s e s haas sl 0
Ww =220 kg/m? = 2.16 KN/m? (580 GR) A Gl ) dils L
Ww = 220 kg/m? = 2.16 KN/m? D0k 0s) 2 sl ) Jilas L
il gl S G| (sE0k sloh) W gletand (5500 ) Wi s gletiand 2
i b gala [ (m)
kg/m KN/m kg/m KN/m
Gwo | 2.70 -12.85 | 594.0 5.83 594.0 5.83
-rSas,)u| 270 -9.65 594.0 5.83 594.0 5.83
-y Sa<b| 320 -6.45 704.0 6.90 704.0 6.90
S &b 270 -2.75 594.0 5.83 594.0 5.83
CiSa 4.70 0.45 1034.0 10.14 1034.0 10.14
Jsl 3.10 5.65 682.0 6.69 682.0 6.69
23 3.10 9.25 682.0 6.69 682.0 6.69
oy 3.10 12.85 | 682.0 6.69 682.0 6.69
s 3.10 16.45 | 682.0 6.69 682.0 6.69
O 3.10 20.05 | 682.0 6.69 682.0 6.69
i 3.10 2365 | 682.0 6.69 682.0 6.69
K 3.10 27.25 | 682.0 6.69 682.0 6.69
S 3.10 30.85 | 682.0 6.69 682.0 6.69
s 3.10 3445 | 682.0 6.69 682.0 6.69
a2 3.10 38.05 | 682.0 6.69 682.0 6.69
a0k 3.10 4165 | 682.0 6.69 682.0 6.69
ada)) 5 3.10 4525 | 682.0 6.69 682.0 6.69
A s 3.10 4885 | 682.0 6.69 682.0 6.69
ke 3.10 52.45 | 682.0 6.69 682.0 6.69
2 il 3.10 56.05 | 682.0 6.69 682.0 6.69
a2 s 3.10 59.65 | 682.0 6.69 682.0 6.69
b 20 3.10 63.25 | 682.0 6.69 682.0 6.69
N 3.10 66.85 | 682.0 6.69 682.0 6.69
pha) sl 3.10 70.45 | 682.0 6.69 682.0 6.69
. 3.10 74.05 | 682.0 6.69 682.0 6.69
Soscwn | 310 7765 | 682.0 6.69 682.0 6.69
psd s | 3.10 81.25 | 682.0 6.69 682.0 6.69
0 0.00 84.85 | 264.0 2.59 204.0 2.00
s oolils sl i Johaals L
al calls plis ) sligla s
' s kg/m KN/m
oL 1.20 204 2.00
4Ly gl 0.30 51 0.50
Lisbils [ 1.20 264 2.59

2-6, 1-6 sy

2-6, 1-6 sy




sl e e ZOal b

| e e o< i EDIT MASS WALLS EDIT MASS PARTITION

~ Sase | exdedal | (m) (ka/m) (KN/m) (ka/m?) (KN/m?)
v <[ 270 2.7 -9.65 0 0.00 0.00 0.00
Y Sasu| 3.20 2.95 -6.45 -55.00 -0.54 -25.00 -0.25
o K[ 270 2.95 -2.75 55.00 0.54 25.00 0.25
S 4.70 3.7 0.45 -220.00 -2.16 -100.00 -0.98
J 3.10 3.9 5.65 176.00 1.73 80.00 0.78
o 3.10 3.1 9.25 0.00 0.00 0.00 0.00
o5 3.10 3.1 12.85 0.00 0.00 0.00 0.00
e 3.10 3.1 16.45 0.00 0.00 0.00 0.00
aly 3.10 3.1 20.05 0.00 0.00 0.00 0.00
X 3.10 3.1 23.65 0.00 0.00 0.00 0.00
in 3.10 3.1 27.25 0.00 0.00 0.00 0.00
N 3.10 3.1 30.85 0.00 0.00 0.00 0.00
o 3.10 3.1 34.45 0.00 0.00 0.00 0.00
o2 3.10 3.1 38.05 0.00 0.00 0.00 0.00
e22 3k 3.10 3.1 41.65 0.00 0.00 0.00 0.00
23l [ 310 3.1 45.25 0.00 0.00 0.00 0.00
£ o 3.10 3.1 48.85 0.00 0.00 0.00 0.00
2l [ 3.10 3.1 52.45 0.00 0.00 0.00 0.00
o33 3.10 3.1 56.05 0.00 0.00 0.00 0.00
2 [ 310 3.1 59.65 0.00 0.00 0.00 0.00
o208 3.10 3.1 63.25 0.00 0.00 0.00 0.00
e 3.10 3.1 66.85 0.00 0.00 0.00 0.00
o225 3.10 3.1 70.45 0.00 0.00 0.00 0.00
J 3.10 3.1 74.05 0.00 0.00 0.00 0.00
Se | 310 3.1 77.65 0.00 0.00 0.00 0.00
ps3 s [ 310 3.1 81.25 0.00 0.00 0.00 0.00
ol 0.00 1.55 84.85 341.00 3.34 50.00 0.49
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T L sl il ks 319 sl (5 Juaio LT 1 (sl g b Lo 9 W 5w 4 gyl 1 Jaaie Slaylges -2
LS g Jos Ao g

ad (oo G 4 3T (Slgiil 4 (pa) ) SLaylgas )3 ¢ Dlaislu o il yde @3ad Eon 5-3-4-5-7 A 3ubo
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7-5-2-5

7-5-4-3-5

-1

Ky=1—sin®
0o = Ko(o, + q) — 2C /K, dulo 9 (o glsen ¢ 0l (S il 93 el Al Sk g
SW
D ed o Al g SKA Gladliia
Soi Table q \nnharTnIJleI q Soi Table q l l ‘L ‘L
| ml | \|
YI
2 |H I
5 H FH[ S T
C c e H D —
e Yeat. o —
F— fg H) | J
L L
_|_| 1 — +
DR o
Type 2 Type 3
Type 1 lsd iy SB Ll
S b jogase Oj9 Y. = 1.91 Ton/m®> = 1873  KN/m’
S 6y9 dbse pogsae Oj9 Yo =0 Ton/m’ = 0.00 KN/m>
Ol pogase 0)9 Y,=1 Ton/m3 = 9.381 KN/m3
L pegate O)9 Y.=24 Ton/m’ = 2354 KN/m*
S sy SKlasel a9l b=730 deg.
g 0y 5 Sl e SElassl 4l 5=115 deg.
SS9y o U3 Cond u= 0.4 -
SB e (§)lad cwglie Qan = 3.84 Kg/cm® = 0.38 Mpa
Sl slas sy digy L) s (g sl b g
a3y B8 ol Ny A=0.35 -
Al i gl H=13.85 m
Sia SIA gl Hi=p m
Jsabse S plis) H, = m
Sia S (Sais C=03 Ton/m?> = 0.00294 Mpa
osabg S Raina C'=0 Ton/m®* = 0 Mpa
b q=0 Ton/m®* = 0.0 KN/m?
2SR i 4 a=0 deg.
: lhas claddia
f'e= 300 kg/cm® = 294 Mpa
dsb soSle jwix: Al —>  f,= 4000 kg/cm® = 3923  Mpa
w2 Sl puiz: Al —> f,= 3400 kg/cm®> = 333.4  Mpa
€ = 0.0035
Es= 2000000 kg/cm® = 196133 Mpa
Ec=266212 kg/em®* = 26106.5 Mpa




T Slil Gl 0 Hlgad )yl yliad -3
(Type 1)  :(Sbil) iz 09 GLSL 55 (sl HLad p1,SLs

Soil Table q

Structural Floor

[SROES

KoY H Kod

: ,MMA%' Shld eSS o il Hlad l/l:ﬁé
A o’ £

Soil Table q

-

—
g

&
I

3
\—snucmralrlnor >

[eRNE
I
[

»

>

koY H kqa 2Ck,
Silbiwl > s S 613850

Ko=1-sing —> Ko=0.61
o, =yH ——> 0,=26.4535 Ton/m?
gy = Ko(o, +q) —2C /K, —> ©0=1565  Ton/m?

259.42  KN/m?
153.46  KN/m?

Zc=20/(vJKo) ——>  Zc=040 m
Pos = 1/2(H — Z.)(yHK, — 2C\[K;) —> Pos= 9577 Ton
Pog = Koqi —> Poa= 0.00 Ton

:J\ﬁéﬁé‘)\)sﬁu‘)md‘)‘ﬁjg‘s\uﬂdﬁm
o0 =Ko(y(Z—-H)+q) —2CJK, —>

BES 1.16 z - 1612 + 0.00 - 047 |
@ h= 000 —> Z=138 —> M 0= 15.65  Ton/m?
@h=HZ —> z=040 ___sm %=0.00  Ton/m?
@h= 1385 —> Z=000 —> M 0o=-0.47  Ton/m?

PATTERN VALUE =CZ+D —> C=-1.16
D=15.65




(Goe e o 1)) 4 KN/M2) S ils (alb b= g5

D146 Ui 5 2-4-6 2 (3o 5 Sa ils L Jilaa

Dl Eod

g.,\l.,a Lu_w.J 6&)‘5&)
KN/m?

Jils SA il Ak b= 131575 KN/m?

TIPS NIY
Soil Table q YL J7 J7 J7
Tiﬁl stmmlFloor | 2
Sl =1 >
¥ —
5 ==
o :m:m :
l:m: + +
|-||m||
==l ;
lﬁgﬁ koY H koQ J 2ck;
o= 153.5j+ 0.00 - 0.46833 = 153.00 KN/m?
YA (o) Oave
13.85 158.05 136.08
10 114.12 '
0 0.00 57.06 P.=1094.54 KN

6-4-2




(Type 1) (Solind) S 09 WS 53 (ol 5La3 oIS
A (Ko o 40 (9T Sl 4S (300 ) Sl 55 ¢ Olaislas (o Syhe @ik Eanis 6-3-4-5-7 iz 3 2
b S 25 b 3w 298 ooliiwl 2-5-7 Jgdr 31 b 81 03,0 ISL Jasl o 53 (2-5-7 iy 3o i ,1500)
23,8 Ol (gwdige gliad el Olaislu gLl 9 lg £lA3) ¢ S Sluoguas 4 dr g

e b (Shie 1l cado Sl

593 dal) (G0 9 058w Il 458 b S Swelips Jlad 1 ay) B 55 S (gl HLad dwlons 9)

sy Ols Hldolae
Slojyl yhas g aig 2800 )l biw! 308 4
3Ly hs g sl b digy 0.35 0.2
Kv=10.100 -
Kn=10.2 -
B =90 Deg. P SB b el o Hle Tl 9 Ogewlligh plaw s dugl)
k, DBl - dgigie )
0’ =tan~! T 0-- Deg.
v
.2 ’
sin(@+p -6
Kge =

sin(@ + 6) sin(@ — 6’ — a)
sin(f — 8 — 8") sin(a + B)

cos @' sin2fsin(B —0' —6) |1 +\/

H Kaez-

Ko - Ky = -
sinf _
(APue)q = 1/2yH(1 - Kv)mKae —> (APge)q = - Ton = - KN
P =P, +A0P — > P,=_ Ton = . KN
Oae ™ - Ton/m® - KN/m?
0.6H(AP,,) + (H/3)P,
ae = hee = - m
Pae
1999 U9
AP,,=3/8yH?k, —> BPe=269.47 KN
P, =P, + AP, ——> P.. = 139.09 Ton Z 1364.02 KN

%e= 69.55 Ton/m2 682.0 KN/m?

7-5-4-3-6




: (sl Cagzyd - (g5 (il HLad
225 Ugayd 3l ooliial b 3 43 30 Sk sl S8l sl 5 T/m* 4 by S pogmass 03s 028 b
el 0 M)f).h}).) Sk Gos S9luw Hlgd p ylg S Hlad

F=1/2sin@AH

b (2 ETABS 4ol (29,5 ¢ 1) Jgudz 5o 31 Slag s gls

Story |Soil Load

STORY Elev. Heigth | (T/m?) M22 (KN.m) [ M11 (KN.m) V23 (KN)
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Story Level I&Zig Max Drift | Avg Drift Ratio ‘5“1":“&‘1-‘ G“Z:ALML‘
ST1 -10.15 - - - - - -
ST2 -6.75 - - - - - -
ST3 -3.05 - - - - - -
ST4 0.35 - - - - - -
ST5 5.55 EXN 0.018 0.0172 1.057 )yl I
ST6 9.15 EXN 0.029 0.0278 1.047 )yl I
ST7 12.75 EXN 0.043 0.0407 1.050 )yl I
ST8 16.35 EXN 0.059 0.0556 1.053 )yl RSN
ST9 19.95 EXN 0.076 0.0722 1.054 )yl I
ST10 23.55 EXN 0.095 0.0904 1.055 )yl I
ST11 27.15 EXN 0.116 0.1097 1.056 3yl 2l
ST12 30.75 EXN 0.137 0.13 1.057 )yl RSIRY
ST13 34.35 EXN 0.160 0.1511 1.058 )yl RSN
ST14 37.95 EXN 0.183 0.1729 1.058 )yl RSN
ST15 41.55 EXN 0.207 0.1951 1.059 )yl I
ST16 45.15 EXN 0.231 0.2177 1.059 )yl I
ST17 48.75 EXN 0.255 0.2405 1.059 )yl RSIRY
ST18 52.35 EXN 0.279 0.2633 1.060 )yl RSIRY
ST19 55.95 EXN 0.303 0.2861 1.060 3yl RSIRY
ST20 59.55 EXN 0.327 0.3087 1.060 )yl RSN
ST21 63.15 EXN 0.351 0.3311 1.061 )l RSIRY
ST22 66.75 EXN 0.375 0.3531 1.061 )l RSIRY
ST23 70.35 EXN 0.398 0.3748 1.061 )yl I
ST24 73.95 EXN 0.420 0.396 1.061 )yl RSN
ST25 77.55 EXN 0.442 0.4166 1.062 3yl 2l
ST26 81.15 EXN 0.464 0.4367 1.062 3yl I
ST27 84.75 EXN 0.485 0.4561 1.062 )yl RSIRY
ST28 90 EXN 0.478 0.4606 1.038 )l I
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Story Level I&Zi: Max Drift | Avg Drift Ratio GHN:L‘TLMh GHA::ALMh
ST1 -10.15 - - - - - -
ST2 -6.75 - - - - - -
ST3 -3.05 - - - - - -
ST4 0.35 - - - - - -
ST5 5.55 EYP 0.0174 0.0149 1.1680 )yl I
ST6 9.15 EYP 0.0271 0.0233 1.1610 )yl I
ST7 12.75 EYP 0.039 0.0332 1.1730 )yl RSIRY
ST8 16.35 EYP 0.0526 0.0445 1.1810 3yl RSNy
ST9 19.95 EYP 0.0678 0.0571 1.1870 )yl RSN
ST10 23.55 EYP 0.0843 0.0708 1.1910 )yl I
ST11 27.15 EYP 0.1019 0.0853 1.1950 )yl RSINY
ST12 30.75 EYP 0.1204 0.1006 1.1970 3yl I
ST13 34.35 EYP 0.1396 0.1165 1.1990 )yl RSIRY
ST14 37.95 EYP 0.1595 0.1329 1.2000 3yl RSIRY
ST15 41.55 EYP 0.1799 0.1497 1.2000 )yl I
ST16 45.15 EYP 0.2007 0.1669 1.2000 3yl I
ST17 48.75 EYP 0.2218 0.1844 1.2000 )yl I
ST18 52.35 EYP 0.2432 0.202 1.2000 3yl RSIRY
ST19 55.95 EYP 0.2646 0.2198 1.2000 )yl RSINY
ST20 59.55 EYP 0.2861 0.2377 1.2000 3yl I
ST21 63.15 EYP 0.3077 0.2556 1.2000 )yl RSIRY
ST22 66.75 EYP 0.3291 0.2734 1.2000 )yl I
ST23 70.35 EYP 0.3505 0.2912 1.2000 )yl I
ST24 73.95 EYP 0.3717 0.3089 1.2000 )yl RSIRY
ST25 77.55 EYP 0.3926 0.3264 1.2000 3yl I
ST26 81.15 EYP 0.4134 0.3438 1.2000 )yl RSIRY
ST27 84.75 EYP 0.4339 0.361 1.2000 )yl RSIRY
ST28 90 EYP 0.4193 0.3791 1.1060 3yl RSIRY
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20
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b | (m)os | abews | 7TV
ST1_| 1045 | 370 0.0
sT2 | 675 3.40 0.0
ST3 | .05 3.70 0.0
ST4 | 035 3.40 0.0
ST6 | 55 520 | 25004284
STe | 015 3.60 | 16422436
ST7_| 1275 3.60 | 1623074.1
STe | 16.35 360 | 16091683
ST9 | 19.05 3.60 | 1604404.9
ST10 | 2355 3.60 | 1604404.9
ST | 27.15 360 | 1604404.9
ST12 | 3075 360 | 15999233
ST13 | 3435 3.60 | 15629534
ST14 | 37.95 360 | 1490436.3
ST15 | 4155 3.60 | 14904363
ST16 | 45.15 3.60 | 14859546
ST17_| 48.75 360 | 1481473.0
ST18 | 5235 3.60 | 1481473.0
ST19 | 5595 3.60 | 1453022.9
ST20 | 59.55 3.60 | 1378450.1
ST21 | 63.15 360 | 1373968.5
ST22 | 66.75 360 | 1373968.5
ST23 | 7035 360 | 13739685
ST24 | 73.95 360 | 1355766.5
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ohaiala ¢35 W = 354312 Ton
Dadgl s B
Veax = 1573.15 Ton
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Umin { Veavmn = 1573.15 Ton

2800

-2-3

2800

-2-4

2800

-2-5

2800-3-2-2

-3

2800-3-3

1-7-2

1-7-3

3-11




Dobale plan ) oAl ails g8 )

F Wih*
ui ?:1V|/jhjk U
R W, A Wh" Wh™ Fox Fy %V, | %V,
ST1 0.0 3.70 0.0 0.0 0.00 0.00 1.000 1.000
ST2 0.0 7.10 0.0 0.0 0.00 0.00 1.000 1.000
ST3 0.0 10.80 0.0 0.0 0.00 0.00 1.000 1.000
ST4 0.0 14.20 0.0 0.0 0.00 0.00 1.000 1.000
ST5 2590.4 | 19.40 356221.3 356221.3 17.61 17.61 1.000 1.000
ST6 1642.2 | 23.00 299597.1 299597.1 14.81 14.81 0.989 0.989
ST7 1624.0 | 26.60 377175.7 377175.7 18.65 18.65 0.979 0.979
ST8 1609.2 | 30.20 461423.4 461423.4 22.81 22.81 0.968 0.968
ST9 1604.4 | 33.80 554657.7 554657.7 27.42 27.42 0.953 0.953
ST10 1604.4 | 37.40 656161.2 656161.2 32.44 32.44 0.936 0.936
ST11 1604.4 | 41.00 764334.4 764334.4 37.79 37.79 0.915 0.915
ST12 1599.9 | 44.60 876516.7 876516.7 43.33 | 43.33 0.891 0.891
ST13 | 1563.0 | 48.20 974058.3 974058.3 48.16 | 48.16 0.863 0.863
ST14 1490.4 | 51.80 1046878.1 1046878.1 51.76 51.76 0.833 0.833
ST15 | 1490.4 | 55.40 1170438.2 1170438.2 57.86 57.86 0.800 0.800
ST16 | 1486.0 | 59.00 1295512.0 1295512.0 64.05 64.05 0.763 0.763
ST17 | 1481.5 | 62.60 1425084.4 1425084.4 70.45 70.45 0.722 0.722
ST18 | 1481.5 | 66.20 1563733.5 1563733.5 77.31 77.31 0.678 0.678
ST19 | 1453.0 | 69.80 1674664.7 1674664.7 82.79 82.79 0.628 0.628
ST20 1378.5 | 73.40 1727078.4 1727078.4 85.38 85.38 0.576 0.576
ST21 1374.0 | 77.00 1863917.0 1863917.0 92.15 92.15 0.522 0.522
ST22 1374.0 | 80.60 2010839.2 2010839.2 99.41 99.41 0.463 0.463
ST23 | 1374.0 | 84.20 2162161.0 2162161.0 | 106.89 [ 106.89 | 0.400 0.400
ST24 1355.8 | 87.80 2287112.0 2287112.0 | 113.07 | 113.07 | 0.332 0.332
ST25 | 1316.3 | 91.40 2373841.5 2373841.5 | 117.36 | 117.36 | 0.260 0.260
ST26 | 1316.3 | 95.00 2531104.1 2531104.1 | 125.13 | 125.13 | 0.185 0.185
ST27 | 1297.6 | 98.60 2654080.1 2654080.1 | 131.21 [ 131.21 | 0.106 0.106
ST28 320.1 [ 103.85 713574.6 713574.6 35.28 35.28 0.022 0.022
> = 35431 - 31820164 31820164 | 1573.15[1573.15
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b Sicone
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Bix = 0.363 By = 0.416
sk ol Cols
Ny = 1.589 Ny = 1.501
P PBL o
Bx= 0.577 By= 0.625
Crninx = 0.044 Cminy = 0.044 s Jilas a3l
D 08 S JAS Sl 4l A3 cune
b S > o D Caglde d> o
ABI Cx = 0.0317 ABI Cx = 0.04440
C=1ar, ~— ~ {CY = 0.0317 C=%, — {CY = 0.04440
J K2
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aih Wi h; Wih™ Wih™ Fix Fiy F;
ST1 00 370 | 0.00E+00 | 0.00E+00 0 0 | 71059.49533
ST2 0.0 710 | 0.00E¥00 | 0.00E+00 0 0 | 288075.4964
ST3 00 | 10.80 | 0.00E¥00 | 0.00E+00 0 0 292229.655
ST4 00 | 1420 | 0.00E¥00 | 0.00E+00 0 0 292229.655
ST5 |25004284| 19.40 | 3.56E+08 | 3.56E+08 | 17611 | 17611 | 300980.1718
ST6 |16422436| 23.00 | 3.00E+08 | B3.00E+08 | 14812 | 14812 | 305021.0019
ST7 |16239741| 26.60 | 3.77E+08 | 3.77E+08 | 18647 | 18647 | 305021.0019
ST8 |16091683| 30.20 | 4.61E+08 | 4.61E+08 | 22812 | 22812 | 3050210019
ST9 | 16044049| 33.80 | 5.55E+08 | 5.55E+08 | 27422 | 27422 | 306015.9291
ST10 | 1604404.9| 37.40 | 6.56E+08 | 6.56E+08 | 32440 | 32440 | 322571.0793
ST11 | 1604404.9| 41.00 | 7.64E+08 | 7.64E+08 | 37788 | 37788 | 328886.9988
ST12 |15009233| 44.60 | 8.77E+08 | B8.77E+08 | 43334 | 43334 | 328886.9988
ST13 | 15620534| 48.20 | O.74E+08 | O.74E+08 | 48156 | 48156 | 3298819258
ST14 |14904363| 51.80 | 1.056E+09 | 1.056E+09 | 51756 | 51756 | 330876.8529
ST15 | 14904363| 5540 | 1.17E+09 | 1.17E+09 | 57865 | 57865 | 330876.8529
ST16 | 14850546] 59.00 | 1.30E+09 | 1.30E+09 | 64048 | 64048 | 346975.6649
ST17 |14814730| 62.60 | 1.43E+09 | 1.43E+09 | 70454 | 70454 | 3551829646
ST18 |14814730| 66.20 | 1.56E+09 | 1.56E+09 | 77309 | 77309 | 356177.8915
ST19 | 14530229| 69.80 | 1.67E+09 | 1.67E+09 | 82793 | 82793 | 356177.8915
ST20 |1378450.1| 7340 | 1.73E+09 | 1.73E+09 | 85385 | 85385 | 356177.8915
ST21 |13730685| 77.00 | 1.86E+09 | 1.86E+09 | 92150 | 92150 | 357235.3567
ST22 |13730685| 80.60 | 2.01E+09 | 2.01E+09 | 99413 | 99413 | 360522.2607
ST23 |13730685| 84.20 | 2.16E+09 | 2.16E+09 | 106894 | 106894 | 364578.0895
ST24 | 13557665| 87.80 | 2.00E+09 | 2.20E+09 | 113072 | 113072 | 575075.0988
ST25 |13163498| 9140 | 2.37E+09 | 2.37E+09 | 117360 | 117360 0
ST26 |13163498| 95.00 | 2.53E+09 | 2.53E+09 | 125134 | 125134 0
ST27 |12076374| 98.60 | 2.65E+09 | 2.65E+00 | 131214 | 131214 0
ST28 | 3200878 | 103.85 | 7.14E+08 | 7.14E+08 | 35278 | 35278 0
S = |mEEEE| - 3.18E+10 | 3.18E+10 | 752632 | 752632 | 7865737.227
hpea. = 1.4 m = Osie Andia (o5 B Gamlaigd ) ) glas )
W=28394 Ton = sl 0
My = Z Wid, —>  Mg=5852941  T.m
My = ZFiHi — > Mo=1165052  T.m
Mpg
F.§=772175 —> F.S=5.02 OK

9]




S e ol e Qs (6 s TYPE ] S QL ciuda )

Db Sl S -6

3.000
2.500
2.000 , \
@ 1.500 \\
1.000 \\
0.500 I ——
0.000 ‘T
0 1 2 3 4 5
T(Sec)
T 0 0.1 0.5 0.7 0.9
B 1 2.50 2.50 1.86 1.50
T 1.1 1.3 1.5 1.7 1.9
B 1.27 1.12 1.00 0.91 0.84
Agl Agl DL il e Gy pa
<T) = 0.48376 (T) = 0.48376
X Y 40 = Olusi e dlaxd
Mode | Period | Sum UX [ Sum UY [ SumRZ | Mode | Period | Sum UX [ Sum UY [ Sum RZ
1 4.04641 50.0493 0.4002 0.0108 30 0.06099 91.7433 92.3608 78.8755
2 3.57476 50.1947 0.4039 41.8243 31 0.0606 91.8276 92.3735 80.9214
3 3.42853 50.6029 51.0644 41.8253 32 0.05956 92.26 92.3741 82.2826
4 0.97791 64.9255 51.0764 41.8276 33 0.0588 92.3139 92.5936 82.504
5 0.91191 64.9497 51.0769 53.3367 34 0.05721 92.4641 92.6058 86.9072
6 0.79183 64.9566 67.0122 53.3368 35 0.05412 92.4878 93.5945 86.9197
7 0.42291 71.0419 67.0125 53.3368 36 0.05336 93.9457 93.5946 88.696
8 0.40012 71.0427 67.0127 58.7386 37 0.05179 93.9942 93.9833 88.8129
9 0.35988 71.0429 72.2214 58.7388 38 0.05114 93.9955 94.1535 88.8221
10 0.31437 71.1208 72.2216 59.4055 39 0.05012 94.0101 95.3729 88.9004
11 030886 72.5084 72.2309 59.4223| 40  0.04933 94.0485 95.468 88.9294
12 0.2925 72.5092 75.5375 59.4223
13 0.21957 73.0739 75.5375 62.7698
14 0.21525 76.435 75.5377 63.269
15 0.18625 76.4352 81.0225 63.2691
16 0.14412 76.9516 81.0225 66.1215
17 0.14065 80.1518 81.0226 66.4884
18 0.12837 80.1519 86.4432 66.4886
19 0.10455 80.3166 86.4432 69.2565
20 0.10228 84.287 86.4432 69.3043
21 0.09859 84.2873 89.8713 69.3045
22 0.08083 87.9496 89.8838 69.3447
23 0.08008 88.2005 90.4978 69.3567
24 0.07961 89.3887 90.5008 72.5858
25 0.06932 89.7678 91.0804 73.0847
26 0.06786 90.4664 91.7827 73.2241
27 0.06619 90.6005 92.1291 75.1958
28 0.06544 91.7266 92.3466 78.7286
29 0.06126 91.7305 92.3576 78.7817
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el e bl
D dalee Sl Jilag ) dmtagt,:‘&ﬁ
Vsx = 19157 TON
Vsy=1915.7 TON
st s ) Jala 4y i g
Vsx = 1724.1 TON
Vsy = 17242 TON

Ay B e (s A o ol (S Jilat g Gt ) S il (LS (g5 D1 X Cagn 3 el oty 4y (i
350303 Gl 38 Ay sl s

Ay B e O s AL (e Jalae (S JHlat ady Gt 51 S il (LS (g5 31 Y Cagn 3 el oty 4y
3580303 Gl 38 s sk s

X G 0
5 on 2y (o5 30 oy (oaliial b i L 4 s 2 5 s 4l 5 5o Sl (paliials 4S5 iy
b Jalat ) sl Caeny (Sl 4y (b g 40 Jolae (Sl 4y iy St 2m 50 90 2 ) Lelih nilia
Agad @ pia
1Y Se 0
OlgS (g il (03 o (e (ool b s (hus didb b o) (s A 95 51 0l (daiels oSSyl Jdoy
b el 1 el s (Sl by oy 4 dlas (Sl by oy s 12pd 90 55 1) L@B3L ol
S985 Q2
1.0000 =X g 3 lioh palie 54l (i op 2obal cuy i
1.0000 =Y g 03 linh palie 54 (iop 2obal cuy i
b Jilad ) Jeals oad #3al 4y (i
Veax = 1724.13 TON
Vear = 1724.13 TON
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:P-A Yl gwyp -7

P,A
o= ]
we Dol padld

o9 4oyl (A (s Syl + (3% b $Y53) o9 (sdhed QB - (5533 b 4B i
059 4oyl G (5% SLyles + (5% b oY 98) g (shas OB - (585 L 43895 oo

P X gz )0 )l g
B RGVE RN 3] P S

Ciax = 5.5 . ema><,X= 0.118

Ciay = 5.5 Bmax - ? <025 ema><,Y =0.118

439-1: Pi(ton) 6xi(rn) 6yi(rn) in(ton) Vyi(ton) exi eyi
ST1 114603.0 0.0001 0.0002 | 2193.2 | 2193.2 0.001 0.003
ST2 107062.0 0.0003 0.0006 | 2193.2 | 2193.2 0.004 0.009
ST3 100042.9 0.0014 0.0014 | 2193.2 | 2193.2 0.017 0.017
ST4 92599.9 0.0025 0.0018 | 2193.2 | 2193.2 0.031 0.022
ST5 81355.4 0.0074 0.0050 | 2104.0 | 2104.0 0.055 0.037
ST6 75170.8 0.0068 0.0049 | 2099.9 | 2099.9 0.068 0.049
ST7 71561.2 0.0083 0.0058 | 2093.7 | 2093.7 0.079 0.055
ST8 67951.5 0.0094 0.0064 | 2083.0 | 2083.0 0.085 0.058
ST9 64368.1 0.0103 0.0070 | 2066.9 | 2066.9 0.089 0.061
ST10 60850.6 0.0111 0.0074 | 2044.9 | 2044.9 0.092 0.061
ST11 57333.2 0.0116 0.0079 | 2016.0 | 2016.0 0.092 0.062
ST12 53815.7 0.0119 0.0081 | 1979.5 | 1979.5 0.090 0.061
ST13 50307.1 0.0122 0.0082 | 1935.0 | 1935.0 0.088 0.059
ST14 46863.9 0.0125 0.0085 | 1882.7 | 1882.7 0.086 0.059
ST15 43446.7 0.0125 0.0085 | 1821.4 | 1821.4 0.083 0.056
ST16 40029.6 0.0126 0.0086 | 1750.2 | 1750.2 0.080 0.055
ST17 36612.5 0.0127 0.0087 | 1669.0 | 1669.0 0.077 0.053
ST18 33260.6 0.0126 0.0086 | 1578.5 | 1578.5 0.074 0.050
ST19 29908.8 0.0126 0.0087 | 1476.9 | 1476.9 0.071 0.049
ST20 26556.9 0.0124 0.0087 | 1364.1 | 1364.1 0.067 0.047
ST21 23231.2 0.0124 0.0087 | 1240.0 | 1240.0 0.065 0.045
ST22 20015.2 0.0123 0.0086 | 1107.6 | 1107.6 0.062 0.043
ST23 16799.1 0.0122 0.0086 962.6 962.6 0.059 0.042
ST24 13583.1 0.0119 0.0085 804.8 804.8 0.056 0.040
ST25 10367.1 0.0119 0.0084 634.7 634.7 0.054 0.038
ST26 7242.5 0.0117 0.0083 4551 4551 0.052 0.037
ST27 4117.9 0.0114 0.0083 261.8 261.8 0.050 0.036
ST28 1089.0 0.0057 0.0037 64.5 64.5 0.018 0.012

Gy P-Delta @l 3 8 S Sl jo 4 sl

s P-Delta <l 8 8 ki 545 ks

AL e il oadi Hlga X Cign 30l

AL e il 02d8 L Y D 30l

1Y Ce

1Y S

X e )

X e )
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Ay=cqlhey

Apgi

1

Apgi

_Bi

@L@Udu Owidle - Ay= 0.025h
L claale e - Aa= 0.02h

1 0l e s JAS
Cal ?‘a.m ajL»
Cax= 5.5
X Cagz )3 e Ciyd cawd 1 0.003636

Cay=5.5
Y S 00 Hloe Cdnyd Cuwd 1 0.003636

T X G 2 e i J S

Al Level Load |MAX Drift Ratio| Drift Ratio| CHECK
ST1 -10.15 - -
ST2 -6.75 - -
ST3 -3.05 - -
ST4 0.35 - - - -
ST5 5.55 DRX1,2,3 0 0.00142 OK
ST6 9.15 DRX1,2,3 0 0.00175 OK
ST7 12.75 DRX1,2,3 0 0.00214 OK
ST8 16.35 DRX1,2,3 0 0.00242 OK
ST9 19.95 DRX1,2,3 0 0.00267 OK
ST10 23.55 DRX1,2,3 0 0.00292 OK
ST11 27.15 DRX1,2,3 0 0.00306 OK
ST12 30.75 DRX1,2,3 0 0.00319 OK
ST13 34.35 DRX1,2,3 0 0.00331 OK
ST14 37.95 DRX1,2,3 0 0.00342 OK
ST15 41.55 DRX1,2,3 0 0.00344 OK
ST16 45.15 DRX1,2,3 0 0.00353 OK
ST17 48.75 DRX1,2,3 0 0.00356 OK
ST18 52.35 DRX1,2,3 0 0.00358 OK
ST19 55.95 DRX1,2,3 0 0.00358 OK
ST20 59.55 DRX1,2,3 0 0.00361 OK
ST21 63.15 DRX1,2,3 0 0.00358 OK
ST22 66.75 DRX1,2,3 0 0.00356 OK
ST23 70.35 DRX1,2,3 0 0.00353 OK
ST24 73.95 DRX1,2,3 0 0.00350 OK
ST25 77.55 DRX1,2,3 0 0.00347 OK
ST26 81.15 DRX1,2,3 0 0.00342 OK
ST27 84.75 DRX1,2,3 0 0.00333 OK
ST28 90 DRX1,2,3 0 0.00242 OK

-8
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Al Level Load |MAX Drift Ratio| Drift Ratio CHECK
ST1 -10.15 - - -

ST2 -6.75 - -

ST3 -3.05 - -

ST4 0.35 - - - -

ST5 5.55 DRY1,2,3 0 0.00090 OK
ST6 9.15 DRY1,2,3 0 0.00128 OK
ST7 12.75 DRY1,2,3 0 0.00147 OK
ST8 16.35 | DRY1,2,3 0 0.00164 OK
ST9 19.95 DRY1,2,3 0 0.00183 OK
ST10 23.55 | DRY1,2,3 0 0.00194 OK
ST11 27.15 | DRY1,2,3 0 0.00206 OK
ST12 30.75 | DRY1,2,3 0 0.00214 OK
ST13 34.35 | DRY1,2,3 0 0.00219 OK
ST14 37.95 | DRY1,2,3 0 0.00225 OK
ST15 41.55 | DRY1,2,3 0 0.00233 OK
ST16 45.15 | DRY1,2,3 0 0.00233 OK
ST17 48.75 | DRY1,2,3 0 0.00239 OK
ST18 52.35 | DRY1,2,3 0 0.00239 OK
ST19 55.95 | DRY1,2,3 0 0.00242 OK
ST20 59.55 | DRY1,2,3 0 0.00242 OK
ST21 63.15 | DRY1,2,3 0 0.00242 OK
ST22 66.75 | DRY1,2,3 0 0.00242 OK
ST23 70.35 | DRY1,2,3 0 0.00242 OK
ST24 73.95 | DRY1,2,3 0 0.00239 OK
ST25 77.55 | DRY1,2,3 0 0.00239 OK
ST26 81.15 | DRY1,2,3 0 0.00236 OK
ST27 84.75 | DRY1,2,3 0 0.00236 OK
ST28 90 DRY1,2,3 0 0.00173 OK

DY Qe o G s J S
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DS 638 e s

: Oleisbe O3 9o )y (il Sow ad88 -9

DR se sl o s jlad

A \2 JOINT LABLE 1: ST46

4 =11 ZAm) 1=4;=3 JOINT LABLE 2 : ST46

JOINT LABLE 3: ST46

(Kl iy Gl ) X g 0 (B8 (538 50 (5
Story Do x Dinx Bavex A €« Fcc. Length

ST1 0.023 0.028 0.026 1.00 0.0500 | 2.95
ST2 0.070 0.084 0.077 1.00 0.0500 | 2.95
ST3 0.125 0.151 0.138 1.00 0.0500 | 2.95
ST4 0.185 0.222 0.203 1.00 0.0500 | 2.95
ST5 0.247 0.295 0.271 1.00 0.0500 | 2.95
ST6 0.311 0.371 0.341 1.00 0.0500 | 2.95
ST7 0.377 0.448 0.413 1.00 0.0500 | 2.95
ST8 0.445 0.527 0.486 1.00 0.0500 | 2.95
ST9 0.513 0.607 0.560 1.00 0.0500 | 2.95
ST10 0.583 0.687 0.635 1.00 0.0500 | 2.95
ST11 0.654 0.769 0.711 1.00 0.0500 | 2.95
ST12 0.726 0.852 0.789 1.00 0.0500 | 2.95
ST13 0.798 0.935 0.866 1.00 0.0500 | 2.95
ST14 0.871 1.018 0.945 1.00 0.0500 | 2.95
ST15 0.945 1.102 1.024 1.00 0.0500 | 2.95
ST16 1.019 1.186 1.103 1.00 0.0500 | 2.95
ST17 1.093 1.271 1.182 1.00 0.0500 | 2.95
ST18 1.167 1.355 1.261 1.00 0.0500 | 2.95
ST19 1.242 1.439 1.340 1.00 0.0500 | 2.95
ST20 1.316 1.522 1.419 1.00 0.0500 | 2.95
ST21 1.390 1.606 1.498 1.00 0.0500 | 2.95
ST22 1.464 1.688 1.576 1.00 0.0500 | 2.95
ST23 1.537 1.770 1.654 1.00 0.0500 | 2.95
ST24 1.610 1.851 1.731 1.00 0.0500 | 2.95
ST25 1.682 1.932 1.807 1.00 0.0500 | 2.95
ST26 1.753 2.011 1.882 1.00 0.0500 | 2.95
ST27 1.824 2.089 1.956 1.00 0.0500 | 2.95
ST28 1.893 2.166 2.030 1.00 0.0500 | 2.95
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D (oKe b oy i Gl ) X g 0 FEI 638 e 050

Story Do x Dinx Bavex A €« | Ecc. Length
ST1 0.0282 0.0231 0.026 1.00 0.0500 2.95
ST2 0.0842 0.0695 0.077 1.00 0.0500 2.95
ST3 0.1506 0.1250 0.138 1.00 0.0500 2.95
ST4 0.2217 0.1847 0.203 1.00 0.0500 2.95
ST5 0.2954 0.2470 0.271 1.00 0.0500 2.95
ST6 0.3710 0.3113 0.341 1.00 0.0500 2.95
ST7 0.4482 0.3772 0.413 1.00 0.0500 2.95
ST8 0.5268 0.4445 0.486 1.00 0.0500 2.95
ST9 0.6066 0.5132 0.560 1.00 0.0500 2.95
ST10 0.6874 0.5830 0.635 1.00 0.0500 2.95
ST11 0.7691 0.6538 0.711 1.00 0.0500 2.95
ST12 0.8516 0.7255 0.789 1.00 0.0500 2.95
ST13 0.9348 0.7980 0.866 1.00 0.0500 2.95
ST14 1.0183 0.8711 0.945 1.00 0.0500 2.95
ST15 1.1023 0.9447 1.024 1.00 0.0500 2.95
ST16 1.1864 1.0187 1.103 1.00 0.0500 2.95
ST17 1.2706 1.0929 1.182 1.00 0.0500 2.95
ST18 1.3548 1.1673 1.261 1.00 0.0500 2.95
ST19 1.4387 1.2416 1.340 1.00 0.0500 2.95
ST20 1.5224 1.3159 1.419 1.00 0.0500 2.95
ST21 1.6056 1.3899 1.498 1.00 0.0500 2.95
ST22 1.6883 1.4637 1.576 1.00 0.0500 2.95
ST23 1.7702 1.5370 1.654 1.00 0.0500 2.95
ST24 1.8514 1.6097 1.731 1.00 0.0500 2.95
ST25 1.9317 1.6818 1.807 1.00 0.0500 2.95
ST26 2.0109 1.7531 1.882 1.00 0.0500 2.95
ST27 2.0890 1.8236 1.956 1.00 0.0500 2.95
ST28 2.1659 1.8932 2.030 1.00 0.0500 2.95
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(UKl i Gl ) Y g o (B8 (538 e (5

Story Doy Boiny ave.Y A €jv | Ecc. Length
ST1 0.030 0.036 0.033 1.00 0.05 1.93
ST2 0.086 0.101 0.094 1.00 0.05 1.93
ST3 0.150 0.176 0.163 1.00 0.05 1.93
ST4 0.217 0.254 0.236 1.00 0.05 1.93
ST5 0.287 0.335 0.311 1.00 0.05 1.93
ST6 0.358 0.418 0.388 1.00 0.05 1.93
ST7 0.430 0.501 0.466 1.00 0.05 1.93
ST8 0.504 0.587 0.546 1.00 0.05 1.93
ST9 0.580 0.673 0.626 1.00 0.05 1.93
ST10 0.656 0.761 0.708 1.00 0.05 1.93
ST11 0.734 0.849 0.791 1.00 0.05 1.93
ST12 0.812 0.938 0.875 1.00 0.05 1.93
ST13 0.891 1.027 0.959 1.00 0.05 1.93
ST14 0.970 1.117 1.044 1.00 0.05 1.93
ST15 1.050 1.207 1.129 1.00 0.05 1.93
ST16 1.130 1.298 1.214 1.00 0.05 1.93
ST17 1.210 1.388 1.299 1.00 0.05 1.93
ST18 1.290 1.478 1.384 1.00 0.05 1.93
ST19 1.370 1.567 1.469 1.00 0.05 1.93
ST20 1.450 1.657 1.553 1.00 0.05 1.93
ST21 1.530 1.745 1.638 1.00 0.05 1.93
ST22 1.609 1.833 1.721 1.00 0.05 1.93
ST23 1.687 1.921 1.804 1.00 0.05 1.93
ST24 1.765 2.007 1.886 1.00 0.05 1.93
ST25 1.842 2.092 1.967 1.00 0.05 1.93
ST26 1.918 2.176 2.047 1.00 0.05 1.93
ST27 1.993 2.258 2.126 1.00 0.05 1.93
ST28 2.067 2.340 2.203 1.00 0.05 1.93
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D (el oy Giay (el ) Y ien 50 B (538 50 (5

Story Doy Boiny Doy A €jv | Ecc. Length
ST1 0.036 0.030 0.033 1.00 0.05 1.93
ST2 0.101 0.086 0.094 1.00 0.05 1.93
ST3 0.176 0.150 0.163 1.00 0.05 1.93
ST4 0.254 0.217 0.236 1.00 0.05 1.93
ST5 0.335 0.287 0.311 1.00 0.05 1.93
ST6 0.418 0.358 0.388 1.00 0.05 1.93
ST7 0.501 0.430 0.466 1.00 0.05 1.93
ST8 0.587 0.504 0.546 1.00 0.05 1.93
ST9 0.673 0.580 0.626 1.00 0.05 1.93
ST10 0.761 0.656 0.708 1.00 0.05 1.93
ST11 0.849 0.734 0.791 1.00 0.05 1.93
ST12 0.938 0.812 0.875 1.00 0.05 1.93
ST13 1.027 0.891 0.959 1.00 0.05 1.93
ST14 1.117 0.970 1.044 1.00 0.05 1.93
ST15 1.207 1.050 1.129 1.00 0.05 1.93
ST16 1.298 1.130 1.214 1.00 0.05 1.93
ST17 1.388 1.210 1.299 1.00 0.05 1.93
ST18 1.478 1.290 1.384 1.00 0.05 1.93
ST19 1.567 1.370 1.469 1.00 0.05 1.93
ST20 1.657 1.450 1.553 1.00 0.05 1.93
ST21 1.745 1.530 1.638 1.00 0.05 1.93
ST22 1.833 1.609 1.721 1.00 0.05 1.93
ST23 1.921 1.687 1.804 1.00 0.05 1.93
ST24 2.007 1.765 1.886 1.00 0.05 1.93
ST25 2.092 1.842 1.967 1.00 0.05 1.93
ST26 2.176 1.918 2.047 1.00 0.05 1.93
ST27 2.258 1.993 2.126 1.00 0.05 1.93
ST28 2.340 2.067 2.203 1.00 0.05 1.93

DAl il W S ¢ e 0 el dlagl (ol KA

n
M,: = Z(@i}' + ea}-)P}-
j=1
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Gy 0y gk a3l Hb Sly o) JAS -11
S5 JAS §)13 03 geacs 3l Sl b o)l

3L e g sh> b ag

Jawgio Coundl b Slgileislu 309,85

29 40T o (s SLaleas + (G b 53V 58) 03y (skas B - (S35 b wiB9s iunar
B9 2ol (U (i Syl + (i b $aYd) oy (sies OB - (S5 b 485 Wi

4L Ol )l gl

X g )0 e ki gla)

Y G 0 e sl gl

Chaiaba e &l e alid Ciaga s 2800 4wl cpl (s S G
o o) sl e 5 Cned g s ol sl

o o) bR e 5 e g s bl s el

o o) HhA e 5 e g st bl s el

o o) HhA s 5 e g st bl s el

B=BN —>
_ABL
6

>

A= 0.058
I=1
Rx =1 -
Ry =1 -
Ha = 200
H=89.65 m
Tx=1821  sec
Ty=1821  sec
= TYPE Il
To-01 sec
Ts-05 sec
S=15
So = 1
Bix = 0.686
Biv = 0.686
Nx=1.264
Ny=1.264
Bx = 0.868
By=0.868
Cx = 0.0506
Cy = 0.0506
Veax = 1793.62 Ton
Vear = 1793.62 Ton
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Dokadabe gl Al s B @) -11-1

k
FuF% Y { ke = 1.660
7=1 Wih; k,= 1.660
aih Wi h; Wih™ Wih™ Fix Fiy F;
ST1 0.0 3.70 0 0 0.00 0.00 71059.5
ST2 0.0 7.10 0 0 0.00 0.00 288075.5
ST3 0.0 10.80 0 0 0.00 0.00 292229.7
ST4 0.0 14.20 0 0 0.00 0.00 292229.7
ST5 2590.4 | 19.40 | 356221 | 356221 20.08 20.08 300980.2
ST6 16422 | 23.00 | 299597 | 299597 16.89 16.89 305021.0
ST7 1624.0 | 26.60 | 377176 | 377176 21.26 21.26 305021.0
ST8 1609.2 | 30.20 | 461423 | 461423 26.01 26.01 305021.0
ST9 1604.4 | 33.80 | 554658 | 554658 31.26 31.26 306015.9
ST10 1604.4 | 37.40 | 656161 | 656161 36.99 36.99 322571.1
ST11 1604.4 | 41.00 | 764334 | 764334 43.08 43.08 328887.0
ST12 1599.9 | 44.60 | 876517 | 876517 49.41 49.41 328887.0
ST13 1563.0 | 48.20 | 974058 | 974058 54.91 54.91 329881.9
ST14 1490.4 | 51.80 |1046878| 1046878 59.01 59.01 330876.9
ST15 1490.4 | 55.40 |1170438[1170438| 65.97 65.97 330876.9
ST16 1486.0 | 59.00 |1295512 1295512 73.02 73.02 346975.7
ST17 14815 | 62.60 |1425084|1425084| 80.33 80.33 355183.0
ST18 14815 | 66.20 |1563733|1563733| 88.14 88.14 356177.9
ST19 1453.0 | 69.80 |1674665|1674665| 94.40 94.40 356177.9
ST20 13785 | 73.40 |1727078[1727078| 97.35 97.35 356177.9
ST21 1374.0 | 77.00 |1863917|1863917| 105.06 105.06 3572354 | o©
ST22 1374.0 | 80.60 |2010839[2010839| 113.35 113.35 3605223 | %%
ST23 1374.0 | 84.20 |2162161|2162161| 121.88 121.88 364578.1 | &
ST24 1355.8 | 87.80 |2287112[2287112| 128.92 128.92 5750751 | ©
ST25 1316.3 | 91.40 |2373842[2373842| 133.81 133.81 0.0
ST26 1316.3 | 95.00 |2531104|2531104| 142.67 142.67 0.0
ST27 12976 | 98.60 |2654080|2654080| 149.60 149.60 0.0
ST28 320.1 103.85 | 713575 | 713575 40.22 40.22 0.0
5 = 35431.2 R HHHHRE | | 1793.62 1793.62 7865737
DS 5s ale 3e sl JS
MR=ZWL-di —> Mg =585294.066 T.m ©
N~
M0=ZFL-HL- —> Mo = 48005.08455 T.m 2
Mpg
F.§=772175 — F.§=1219 OK




Ll lie #3lal
s Jabee (Sitlind Jilas ) Juals 4y (i

Vsx = 2184.20 TON
Vsy = 2184.20 TON
Db dilad ) deals 4y G
Vsx = 1966.7 TON
Vsy = 1966.3 TON

i e gl i, 28l e ol (Sl Jalad adly (B Sl S iida s (g ) X g D3 el oty 4y 0
a3l G 38 S ik a3 4y

e e (ol s A8 o Jalaa (S (Hlad g Gt 51 S il WIS gy 01 Y Cagn 3 adel oty 4y
250303 G Ay sl Jilad

X O 2
LliDh alie Ol 58 (o 280 e 228 iy el b Cima (LA 4k L a i i aliha g g8 )l edaiald a5 iy
2gad o pa i Jalat ) sl Caseny (Saliny 4y (5 4 Jalee (Sl 44y (5 G 3a ;0 90 2 )
1Y Se 0
@BL 23lie Olgs (2 ddb (03 s (hamn (pbaiell b Cand s aib b o3 (o dids £65 51 03l (edaiels 4l Jud oo
3903 o (g Judoxd 3l ouel Cady Sualind by Gl ) Jolas (SSliaol iy 0 Copand ds2)3 90 03 1y
0.9995 =X g o Ll ol 54l i #3lal y i
0.9997 =Y G o Llinh Honlie 54l Ui #3lal cy i

st dalas ) deala sad 2 3lal Ay (B
Veax = 1965.78 TON
Veay = 1965.78 TON
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1y 0,0 Ay 5o O s JAS -11-2

Cal ?‘a.m ajL»
SHeresla Jidls 3 - A= 0.005h X Cagz 03 jlome Caiyd Cuwd 1 0.0050
sala s 5 A= 0.02h Y Sz 00 jlme Cun)d Cuwd 1 0.0050

TX G e s J S

Al Level Load MAX Drift Ratio | Drift Ratio CHECK
ST1 -10.15 - - - -
ST2 -6.75 - - - -
ST3 -3.05 - - - -
ST4 0.35 - - - -
ST5 5.55 DRX1,2,3 0 0.00115 OK
ST6 9.15 DRX1,2,3 0 0.00153 OK
ST7 12.75 DRX1,2,3 0 0.00183 OK
ST8 16.35 DRX1,2,3 0 0.00208 OK
ST9 19.95 DRX1,2,3 0 0.00228 OK
ST10 23.55 DRX1,2,3 0 0.00244 OK
ST11 27.15 DRX1,2,3 0 0.00258 OK
ST12 30.75 DRX1,2,3 0 0.00267 OK
ST13 34.35 DRX1,2,3 0 0.00272 OK
ST14 37.95 DRX1,2,3 0 0.00281 OK
ST15 41.55 DRX1,2,3 0 0.00286 OK
ST16 45.15 DRX1,2,3 0 0.00289 OK
ST17 48.75 DRX1,2,3 0 0.00292 OK
ST18 52.35 DRX1,2,3 0 0.00292 OK
ST19 55.95 DRX1,2,3 0 0.00292 OK
ST20 59.55 DRX1,2,3 0 0.00292 OK
ST21 63.15 DRX1,2,3 0 0.00292 OK 5
ST22 66.75 DRX1,2,3 0 0.00286 OK ;
ST23 70.35 DRX1,2,3 0 0.00286 OK
ST24 73.95 DRX1,2,3 0 0.00283 OK
ST25 77.55 DRX1,2,3 0 0.00281 OK
ST26 81.15 DRX1,2,3 0 0.00275 OK
ST27 84.75 DRX1,2,3 0 0.00269 OK
ST28 90 DRX1,2,3 0 0.00194 OK




DY G o G s J S

Al Level Load AX Drift Ra{Drift Ratio| CHECK
ST1 -10.15 - - -

ST2 -6.75 - -

ST3 -3.05 - -

ST4 0.35 - - - -

ST5 5.55 DRY1,2,3 0 0.00063 OK
ST6 9.15 DRY1,2,3 0 0.00111 OK
ST7 12.75 DRY1,2,3 0 0.00125 OK
ST8 16.35 DRY1,2,3 0 0.00139 OK
ST9 19.95 DRY1,2,3 0 0.00153 OK
ST10 23.55 DRY1,2,3 0 0.00161 OK
ST11 27.15 DRY1,2,3 0 0.00169 OK
ST12 30.75 DRY1,2,3 0 0.00175 OK
ST13 34.35 DRY1,2,3 0 0.00178 OK
ST14 37.95 DRY1,2,3 0 0.00186 OK
ST15 41.55 DRY1,2,3 0 0.00186 OK
ST16 45.15 DRY1,2,3 0 0.00189 OK
ST17 48.75 DRY1,2,3 0 0.00192 OK
ST18 52.35 DRY1,2,3 0 0.00192 OK
ST19 55.95 DRY1,2,3 0 0.00194 OK
ST20 59.55 DRY1,2,3 0 0.00194 OK
ST21 63.15 DRY1,2,3 0 0.00194 OK
ST22 66.75 DRY1,2,3 0 0.00194 OK
ST23 70.35 DRY1,2,3 0 0.00192 OK
ST24 73.95 DRY1,2,3 0 0.00192 OK
ST25 77.55 DRY1,2,3 0 0.00192 OK
ST26 81.15 DRY1,2,3 0 0.00189 OK
ST27 84.75 DRY1,2,3 0 0.00186 OK
ST28 90 DRY1,2,3 0 0.00141 OK
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(LOAD PATTERNS) DAl o ok alh s 18 L sl

03 0 sl L
sskeaw Ju 1 Dc 22 b 1D
s yhadlalea e L 1 SDC adlaloa e ) 1 SD
DEAD = D +Dc+ SD+SDc
ol sk
o ko) b ! Lsc sed) o o Ls
(LSS s ol e Sl o RS Ove i S Lgdl o2 8 oxij Jly Jilas 48 s (5 )S)
asbexiy )bt Ly sex) b by
(SRS Jald ol Jidy 5 e sie o SIS 00 e Lgdl o3 8 oiy L Jilas 48 e (52 )S)
ook ) BN ch sebexi) b I-r
ook A axgoxiy Ju I Lpe sarsen) b Ilp
LIVE 1 = Le*lg Pl (e aall ) Alud g0 4l S b ol il

LIVE 2 = Ly+Lp+Loo*Lpe

TSl clla oAy 88 ol
X osse digs ok alily L D Ex
Y s Cufie g 5o (A 5 S e g5 deel L X Hsae a3z b Al UL Exp
Y e e G 3 AW 638 e g Jel b X s Gea ki) L Exn
Y s e okl bt Ey
X s Cufie Cga 5 (A 5 S50 05 deel LY Hsme g 2ok Al b Eyp
X osa i Cga 3 A 5 S50 05 del LY Hsme e 2z b A1) UL Eyn

Q1: Exp + 0.3Ey Q5: Eyp + 0.3Ex
Q2: Exp - 0.3Ey Q6 : Eyp - 0.3Ex
Q3 : Exn + 0.3Ey Q7 : Eyn + 0.3Ex
Q4 : Exn - 0.3Ey Q8 : Eyn - 0.3Ex

DSl clla a4l A8 ol
X e b Al ) il e (Sadlin QU 5L 1 SPX
LY G 2 kAl s e Sadin 3L 1 SPY
(S5 S pe O deel b X e 3z ok 4l ) (il s e (Saalin S SPXE
S 3S pe 0s 0 Jeel LY g 3z ok A ) ) (HBL el (Saelin QUSL  SPYE
Q9 : SPxE + 0.3 SPY
Q10 : SPyE + 0.3 SPX

DAl ald b
Lo sl Cuenl L sledlaiale Yoy R R
A=0.35 cob gl QS cs T A
=1 Oiale Cual Cupa |
L)l e Hld b Bhalie o al3ly a8 L 1 EZ2 ok paljlyals L EZ1
EZ1 : (0.6Al)(Dc+SDc+Lsc+Lhc+LpctLre) = 0.21 (Dc+SDc+Lsc+Lhc+Lpc+Lrc)

EZ2:(0.6Al)(D) =0.21 (D+SD)
bk ALSL) 3 ga LB Uy g (gl o LG ¢ S il LGB 1 B iy

Sl clla S8 535 5 26 s SOIL

5 ) g 9 W Ay Cundi ¢ Lad & S < 51 Jad ) o SagA L
Sl GRS A b T
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ACIBO1 :
ACIB02 :

(LOAD COMBINATIONS) MBS 5
DS b s
14D
14D+16L
D) oad 4 8 Hla )3 )y gea 4y B8 sl S e e pld Cne a5 L
1.4 DEAD

ACIBO1 :
ACIBO2 :

ACISO01 :
ACIS05 :

ACIASO1 :
ACIASO2 :
ACIASO3 :
ACIASO04 :
ACIASO5 :
ACIASO06 :
ACIASO7 :

ACIASO08

1.2 DEAD + 1.6 LIVE1 + 1.6 LIVE2 +1.6 LIVER

DA AU (o 38 e o S BT 8 (e o I s
Lo g 005 4aei ™ 0 Jluw (s AT g ilalaa 3 Cpad) Jila ST sladal ) An B M g an s bl b S
Ciygmn ) olad Can s ¢ Ol o) Gl uiga sl Gla S (1 7AF ola ial) o s sla 4 J S aal g
Dadlue )
12D + L + ExP + Ez
09D + ExP - Ez
DAL (e ) s 6l S 5 YA e 3 plailia) FAVATY ah 5 J8 i IR L cV s aa s L
1.2DEAD+0.5LIVE1+1LIVE2+1EX+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2-1EX+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2+1EY+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2-1EY+1EZ1+1EZ2
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EX-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EX-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EY-1EZ1

: 1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EY-1EZ1
ACIASO09 :
ACIAS10 :
ACIAS11 :
ACIAS12 :
ACIAS13::
ACIAS14 :
ACIAS15:
ACIAS16 :

0.9ODEAD+1EX-1EZ1-1EZ2
0.9DEAD-1EX-1EZ1-1EZ2
0.9ODEAD+1EY-1EZ1-1EZ2
0.9DEAD-1EY-1EZ1-1EZ2
0.9D+0.9SD+1EX-1EZ1
0.9D+0.9SD-1EX-1EZ1
0.9D+0.9SD+1EY-1EZ1
0.9D+0.9SD-1EY-1EZ1

3-3-2-6
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ACISO1 :
ACIS05 :

ACISO1 :
ACISO02 :
ACIS03 :
ACIS04 :
ACIS01-1:
ACIS02-1 :
ACIS03-1:

ACIS04-1:
ACIS05 :
ACIS06 :
ACISO7 :
ACIS08 :

ACIS05-1 :

ACIS06-1 :

ACIS07-1:

ACIS08-1

ACIS11

DA AU 538 e s B8R B o b IR L s 5
Lo 5 0 g ™ 0l (sl Al 5 laalaa 2 Cuad) Jla ST slaidljAp B " aa s Ll )b S
oy Vo sbad Caus s ¢ Ol e Gl il ige ala e Sl (VT4 ol aidal) o Sl (sl 4t J i€ aal
Dadlue )
12D + L + ExP + Ez
0.9D + ExP - Ez
Dl e ) s VL il 5 B Ui L a4 s sl
1.2DEAD+0.5LIVE1+1LIVE2+1EXP+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2+1EXN+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2-1EXP+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2-1EXN+1EZ1+1EZ2
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EXP-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EXN-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EXP-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EXN-1EZ1
0.9DEAD+1EXP-1EZ1-1EZ2
0.9DEAD+1EXN-1EZ1-1EZ2
0.9DEAD-1EXP-1EZ1-1EZ2
0.9DEAD-1EXN-1EZ1-1EZ2
0.9D+0.9SD+1EXP-1EZ1
0.9D+0.9SD+1EXN-1EZ1
0.9D+0.9SD-1EXP-1EZ1

: 0.9D+0.9SD-1EXN-1EZ1
ACIS09 :
ACIS10:

1.2DEAD+0.5LIVE1+1LIVE2+1EYP+1EZ1+1EZ2
1.2DEAD+0.5LIVE1+1LIVE2+1EYN+1EZ1+1EZ2

: 1.2DEAD+0.5LIVE1+1LIVE2-1EYP+1EZ1+1EZ2
ACIS12:
ACIS09-1 :
ACIS10-1:
ACIS11-1:
ACIS12-1:
ACIS13:
ACIS14 :
ACIS15:
ACIS16 :
ACIS13-1:
ACIS14-1:
ACIS15-1:
ACIS16-1:

1.2DEAD+0.5LIVE1+1LIVE2-1EYN+1EZ1+1EZ2
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EYP-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp+1EYN-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EYP-1EZ1
1.2D+1.2SD+0.5Ls+1Lh+1Lp-1EYN-1EZ1
0.9ODEAD+1EYP-1EZ1-1EZ2
0.9DEAD+1EYN-1EZ1-1EZ2
0.9DEAD-1EYP-1EZ1-1EZ2
0.9DEAD-1EYN-1EZ1-1EZ2
0.9D+0.9SD+1EYP-1EZ1
0.9D+0.9SD+1EYN-1EZ1
0.9D+0.9SD-1EYP-1EZ1
0.9D+0.9SD-1EYN-1EZ1

2800-3-3-7




ACIS21
ACIS29

ACIS21
ACIS22
ACIS23
ACIS24
ACIS25

ACIS26
ACIS27

ACIS28

ACIS29
ACIS30
ACIS31
ACIS32
ACIS33
ACIS34
ACIS35
ACIS36

ACIS41
ACIS42
ACIS43
ACIS44
ACIS45
ACIS46
ACIS47
ACIS48
ACIS49
ACIS50
ACIS51
ACIS52
ACIS53
ACIS54
ACIS55
ACIS56

DY) Sl AL BB (s Adlga 5o (ladar ) (i 8 BT 3 () s L s
Lo i 005 4agi " 0w (s 4GRS g ilalaa 3 Cad) Jila ST slaialy An B M g an s bl b S
s ) b)uAm}#‘Q\)@Qm\Ou:suw;;@_aeuﬁuuju(wwbu@\)bjuduu&d,:;smj
Dadlue )
12D + L + ExP + 03Ey + Ez
09D + ExP - 03Ey - Ez
Dl e ) s VL il 5 B Ui L a4 s sl
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q1+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q1+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q2+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q2+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q3+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q3+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q4+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q4+1EZ1+1EZ2
: 0.9D+0.9SD+1Q1-1EZ1-1EZ2
: 0.9D+0.9SD-1Q1-1EZ1-1EZ2
: 0.9D+0.9SD+1Q2-1EZ1-1EZ2
: 0.9D+0.9SD-1Q2-1EZ1-1EZ2
: 0.9D+0.9SD+1Q3-1EZ1-1EZ2
: 0.9D+0.9SD-1Q3-1EZ1-1EZ2
: 0.9D+0.9SD+1Q4-1EZ1-1EZ2
: 0.9D+0.9SD-1Q4-1EZ1-1EZ2

: 1.2DEAD+0.5LIVE1+1LIVE2+1Q5+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q5+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q6+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q6+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q7+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q7+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2+1Q8+1EZ1+1EZ2
: 1.2DEAD+0.5LIVE1+1LIVE2-1Q8+1EZ1+1EZ2
: 0.9D+0.9SD+1Q5-1EZ1-1EZ2

: 0.9D+0.9SD-1Q5-1EZ1-1EZ2

: 0.9D+0.9SD+1Q6-1EZ1-1EZ2

: 0.9D+0.9SD-1Q6-1EZ1-1EZ2

: 0.9D+0.9SD+1Q7-1EZ1-1EZ2

: 0.9D+0.9SD-1Q7-1EZ1-1EZ2

: 0.9D+0.9SD+1Q8-1EZ1-1EZ2

: 0.9D+0.9SD-1Q8-1EZ1-1EZ2
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ACIDO1 :
ACIDO2 :

ACIDAO1 :
ACIDAO1-1:
ACIDAO2 :
ACIDA02-1 :

ACIDA11 :

ACIDA11-1:
ACIDA12 :
ACIDA12-1:

ACIDO1 :
ACIDO1-1:

ACID02

ACID11 :
ACID11-1:
ACID12:
ACID12-1:

ACID21 :
ACID22 :

ACID21 :
ACID21-1:
ACID22 :
ACID22-1:

ACID41 :
ACID41-1:
ACID42 :
ACID42-1:

Db (Saalipn 1315 (6 0 il
Do g 025 403 ™ 0 b (gL 4GRS 5 Clanlaa 3 et il S sladaly Ap B M an s L la b S S
Gy Vo el Causn ¢ e il Glails puadiga o5 (e Sl (VFAF sla i) o 3has (sl 4k IS anl g
Dadlue )
12D + L + SPxE + Ez

09D + SPxE - Ez
Dl e ) s IS0 @l 5 JE s IR L CV s s L

DAl A (538 e s S Ll 50 0 s Gula (IR L e i
1.2DEAD+0.5LIVE1+1LIVE2+1SPX+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+1SPX-1EZ1-1EZ2
0.9DEAD+1SPX-1EZ2

0.9D+0.9SD+1SPX-1EZ1-1EZ2

1.2DEAD+0.5LIVE1+1LIVE2+1SPY+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+0.2S1+1SPY-1EZ1
0.9ODEAD+1SPY-1EZ2
0.9D+0.9SD+1SPY-1EZ1-1EZ2

sl () S e s iR e o b ke (5 )l s i
1.2DEAD+0.5LIVE1+1LIVE2+1SPXE+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+0.2S1+1SPXE-1EZ1

: 0.9DEAD+1SPxE-1EZ2
ACID02-1 :

0.9D+0.9SD+1SPxE-1EZ1

1.2DEAD+0.5LIVE1+1LIVE2+1SPYE+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+0.2S1+1SPyE-1EZ1
0.9ODEAD+1SPyE-1EZ2
0.9D+0.9SD+1SPyE-1EZ1-1EZ2

DY) ek AL A o Adlga g3 Gladar ) (8 8 BT 8 () g Il s
Lo g5 005 425 " 0 b (sl AR g Cllanilaa 3 Cuad) Hla ST slaialp Ap B M an S Ll L S 5
gy ) o lad G g ¢ (e il laitls aviga alas (e Sl (V7 F ola did) o s (sl 4 J i€ aal
Dadlue )
12D + L + SPxE + 0.3SPY + Ez
09D + SPxE + 0.3SPY - Ez
DAL e ) O sear IR L @l 5 U8 G I L Y 4a i L
1.2DEAD+0.5LIVE1+1LIVE2+1Q9+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+1Q9-1EZ1
0.9DEAD+1Q9-1EZ1-1EZ2
0.9D+0.9SD+1Q9-1EZ1

1.2DEAD+0.5LIVE1+1LIVE2+1Q10+1EZ1+1EZ2
1.2D+1.2SD+0.5LS+1Lh+1Lp+1Q10-1EZ1
0.9DEAD+1Q10-1EZ1-1EZ2
0.9D+0.9SD+1Q10-1EZ1




ACIDB51 :
ACID22 :

ACIDB51 :

ACIDB62 :
ACIDB63 :

ACIDB74 :

ACIHO1 :
ACIHOZ :

ACIHO1 :
ACIHO2 :

ACITO1 :
ACITO2 :
ACITO3 :
ACITO4 :

ACITO1 :
ACITO2 :
ACITO3 :
ACITO4 :

DY) ek AL A (o Adlga g3 Gladar ) (8 8 BT 58 ) s Nl s S
Do 5 00 4 ™ 0 Jluw (sl AR 5 Slalaa 53 Cuad) s LSS gladal dp e M 4 an S L s b S
G ysaaar ) ol Cas gy ¢ O gl (il el undige aldai e las (VF9F olo diiul) o las (sl 43 J € 2l
Dadlee )
12D + L + SP(0°~165°) + Ez
0.9D + SP(0°~165°) - Ez
aline (5l 55 b (Sealisd Jilat () siae ¢ alen Gl s YA+ 2lailiad F) ¥ iy 5 )R L a4 b
Dl Al S s angl ) ) 1y ealh g saly alal
1.2DEAD+0.5LIVE1+1LIVE2+SPO+1EZ1+1EZ2

1.2DEAD+0.5LIVE1+1LIVE2+SP165+1EZ1+1EZ2
0.9DEAD+SPO0-1EZ1-1EZ2

0.9DEAD+SP165-1EZ1-1EZ2

DS Gy o Rl gl s NG s
Lo g o0 dngi ™ 0 Jlaw (sl AES 5 Cilpilaa o Cuad) ila ST slalb)p Ap B M A aa s L la b S
oy Vo slad Cans s ¢ Ol e il et ige alal e Jl (VT AF ol il ol (sl 4l J i€ aal
Dadle )
12D + 1.6L + 1.6SOIL
0.9D + 1.6SOIL
D AEL e ) D) gear IR L il 5 U8 A I L Vs 4a i L
1.2DEAD+1.6LIVE1+1.6LIVE2+1.6Lr+1.6SOIL
0.9DEAD+1.6SOIL

2 Lad ol S (o Ny il
Lo 5 028 4ag3 ™ 0 jleu (sl A g cilaalaa 43 e Jila S slaid) ) 4n B " daa s Ll b S 5
Cppams Vo el Can g ¢ (ed il it utiga U5 (e Sl (VFAF sl i) o 3has (sla 4 IS sl g

Dadlue )
12D + 16L + 1.2T
1.2D + 16L - 1.2T
1.2D + 1.6T
1.2D - 1.6T

DALl e ) Dy s oI L S 5 U8 (i IR L a4 aa s L

1.2DEAD+1.6LIVE1+1.6LIVE2+1.6LIVER+1.2T
1.2DEAD+1.6LIVE1+1.6LIVE2+1.6LIVER-1.2T
1.2DEAD+1.6T

1.2DEAD-1.6T




: ETABS 5 SAP 4sliy ,2 P-A ) o S Jhi (g
(b S 5yl e ) () s ¢ aply 43y ils L aS 25 e aid K ki 50 ey P-A Sl 4 ansi b
AL 3 g e Ll 3 s L 4S A€ a oalii)
i oSl Al b aS il
1.41 DEAD + 1.0 LIVE1 + 1.0 LIVE2 + 0.2 SNOW + 1.0 E ——> DEAD = 1.41

LIVE= 1.0

‘il aSla ol b aS e
1.2 DEAD + 1.0 LIVE1 + 1.0 LIVE2 + 0.5 SNOW + 1.6 W —> DEAD=12
LIVE= 1.0

AES e )y ) Ul Bab Adli 2 1) (B8l pa s
Analyze / Set Analyze Options / Include P-A / Set P-A Parameters

D SN o e s I L s

SI1: DEAD
SI2: DEAD + LIVE1 + LIVE2
SI13: DEAD + Lr
Sl4: DEAD + S
SI5: DEAD +R
Sl6: DEAD + LIVE1 + LIVE2 + Lr
SI7: DEAD + LIVE1+ LIVE2+ S
SI8: DEAD + LIVE1 + LIVE2+R
SI9: DEAD+T
SI10: DEAD + LIVE1+ LIVE2+T+Lr
SI11: DEAD + LIVE1+ LIVE2+T+S

5-3-2-6




f'=30 Mpa

Ye= 24 KN/m?
Main : s400

= 400 N/mm?

fu =600 N/mm>
Shear : 5340

fe= 340 Mpa

E. = (3300/f"; + 6900) (%)1'5

Dlas Slasin

Z 43511  psi
= 1528 Ib/f
P dae Vb o
= 58014.7 psi
= 87022.1 psi
49312.5 psi
—> Ec=26621.22 Mpa = 3861057 psi
J.ugsm..wa

lh=7.400

m

= 24.28

1
Slabs Without drop panels — hgpin = {E 1n, 5 in}

1
Slabs With drop panels — hgpin = {E I, 4 in}

h,=70

cover = 20

d=44
DL=171.3 kg/m*
SDL = 250 kg/m*
LL= 300 kg/m*

ACIBO1: 1.4D
ACIBO2 : 1.2D+1.6L

hs,min =

ft il s ST Jgbo

1 ACI318-14 b Jbd cwlius Jdlu>

Without drop panels tdlb g
With edge beams D e 0

205.56 mm = 8.093 in

:qb’dﬂ Jb Cwldus
mm = 2.76 in
mm di=12 mm
mm = 717 in

T A syl wlasine

35.1 psf
51.2 psf
61.4 psf

: SIS S Sy

L4 G gbolie (2 GIGL LS

-1

8.3.1.1

53




JId JBlu> Hgile)T meas -5

syl 5 bl ygileyT
0.16,/@.f’
_016V0efe o p=0.001997

Dsfy <

Asmin = Pminbts  —>  Asmin= 139.76 mm?/m ﬁ

[e)}

Dl ) (s le.mo)ilg.a dlold
@b 1 arme Lyl gg3
20 mm 1 3, 8ke Sy o el
Min (2.0 ts, 350) LI a,Sls dlols SSlu>
—_— Smax =140 mm o))
™
— m
USE : p 10 @ 350 mm As= 224.40 mm?® ©
d=44 mm @
——>  p=0.003206 OK

€=2 3

Aa= ¢ M= 1723714 5
A= 15500 2= &
tepldl 1S | g
35 el ACIA35 4 4 g3l Wb ACI318-14 4ol (T 24.2.4.1 4y 4 a5 b oLl (1S | 0
o

<

Q

Shrincage Strain = 0.0005 <

11 S S b dg3 b JIs Caolid JAS -7

Jls ,JT S s

(o]
<
o~

?
—
<
(o]
1.50 <
i
0
i
[20]
G
<

l =3
DL S—r —> A mmL s oK DCR = 0.15
= 360 bi =206 mm




JIs e jhy S

Al < l A=19.25
D+L =740 b =308

13540 6 0l e Syl 4 opel g S (3 y5a000

mm
mm

—

OK

DCR = 0.62

ACI318-14-24.1~2.4.2




L= 28.50
B = 14.45
D= 27.620
tr=1.500

m
m
m
m

=1122.05
=568.90
=1087.40
=59.06

in.
in.
in.
in.

Ogeusligh (b
§ Oguanlligh (gwdids Olaseiie

20395 doe S wlbasine

o 4g5 1509-002-01 olads (3 swiige 9 S s Slalliae ol 095 ilio Jome Sl Sliasedos

C=0.00
b=32-34
Y=1.64

Eso = 500-800

M = 245
W = 2400

E. = (3300/f"; +6900) (

U=0.15
A= 9.90E-06

kg/cm?
Deg.
T/m?
kg/cm2

kg/cm’

kg/cm®

kgf/m 3

el ol gl il Olie) H9lies (rudige lawss

P Ogrlisd ) S-Sl cudyb s
b Cudylo Sl S8 Jyl5S 55 ol oyl Laylages 4 a3 b

P S Jasdl e Copp

S Joall (uSe Cupd Sl Swile (iS5 ol oyl ayloges 4 d>g5 b

kg/m®> = 23.54

1/c

Ve
23

-

KN/m?*

f'c=3059149 kgf/m? ——> f'c=30

fx= 58014.74 Psi

fsu =

87022.1

Psi

f= 49312.53 Ppsi
72518.42  Psi

fou =

s fe=43511

S400
400
600

S340
340
500

E.= 2.66212E+09
Ec= 26621.2

Mpa
psi

10y
N/mm2
N/mm2

10y
N/mm2
N/mm2

s ojlw (o dal oyl

S)ge0 ACH dab T polaslyy Ogamelligd (b ol didpdy Oyguo Olaislus (o Ol yie el s olaslyy 03l (5)1ASHL

43,8

: dhas Wlaskin
Doyl o wlhas wlasin

DU e d>lg oy
DR e A=>l9 Oy
: i Jgda

kef/m’
Mpa
P Ogelg op
s Aol bludl cop
Do Glid Caglie

1 Y Whas wlhasiin
s el sles, e

D S,

1oy Slayl

Sl 0d m)f)bj).})b'.él e» Ja#:jS Slojlw @il Oig @ by)n 0350 L
sl 00 daly) (§)IEHL Jgu dalal o

9-13-7

9-4-1-3,




|1 = 0.50

W= 821.7

: 3B93 ol 3l (3L syl
4 60,8 ©ygum 4388 alonl Judoxs 9 (il 9 85 Sl IS 4 dg3 b (3B 58 03l 31 (3L syl
el o 03ls Jlasi! SAFE deliy

L OgealNigh $9) S 3l b (xdaw 038 )b
Ll i) 5158 O gl inh (9 Loptins g3 gus
m D Ogaanldigh (9 (S)lusS las)|

kg/m’ I3 )3 Ogemldigh S92 (xdaw 0348 Sygaas sk ol




LML b S
s 4yl o gbolie (b )18 LSS
CC1:1.4D
CC2: 1.2D+1.6L+0.5S
CC3: 1.2D+1.65+0.8WX+
CC4: 1.2D+1.65+0.8WX-
CC5: 1.2D+1.65+0.8WY+
CC6: 1.2D+1.65+0.8WY-
CC7: 1.2D+1.0L+0.55+1.6 WX+
CC8: 1.2D+1.0L+0.55+1.6WX-
CC9: 1.2D+1.0L+0.55+1.6WY+
CC10: 1.2D+1.0L+0.55+1.6WY-
CC11 : 1.2D+0.25+1.0EQX
CC12 : 1.2D+0.2S-1.0EQX
CC13: 1.2D+0.25+1.0EQY
CC14 : 1.2D+0.2S-1.0EQY
CC15: 0.9D+1.6WX+
CC16 : 0.9D+1.6WX-
CC17: 0.9D+1.6WY+
CC18: 0.9D+1.6WY-
CC19: 0.9D+1.0EQX
CC20: 0.9D-1.0EQX
CC21: 0.9D+1.0EQY
CC22: 0.9D-1.0EQY

ACI 318-08(9-2)

D Skl JAS GSL oSS
SP1:D
SP2 : D+L+S
SP3 : D+0.75(L+0.7EQX)
SP4 : D+0.75(L-0.7EQX)
SP5 : D+0.75(L+0.7EQY)
SP6 : D+0.75(L-0.7EQY)
SP7 : D+0.75(L+0.6(1.4WX+))
SP8 : D+0.75(L+0.6(1.4WX-))
SP9 : D+0.75(L+0.6(1.4WY+))
SP10 : D+0.75(L+0.6(1.4WY-))
SP11 : 0.6D+0.7(EQX)
SP12 : 0.6D-0.7(EQX)
SP13: 0.6D+0.7(EQY)
SP14 : 0.6D-0.7(EQY)
SP15 : 0.6D+0.6(1.4WX+)
SP16 : 0.6D+0.6(1.4WX-)
SP17 : 0.6D+0.6(1.4WY+)
SP18: 0.6D+0.6(1.4WY-)

6-2-3-4

o)l (Sl Al 9 Ol 3 Cpedl ol OIS (Slaily dzds (8,5 a3 50 L YL Syl S5 48 cal [S5 & 05
el odis Jlosl SAFE (bl o (qwiige plas Olojlw Jawgs odi dugs




(arhn) Sl it . .
o —— g S
W‘}Sf wl&&g}}p
25 20 &)l 9 dyhin ke
50 20 o3 us 9 (8l 4
65 25 Gl 9 9500w
65-100 25 03 uS § 8l dSis oY
duwlo : Ow\.ﬁjé)jj S &9;

035us 5 (8 4l s oalatul 3)g0 (4 o5
oo 50 PS80 e ot
Sosdo 20 DS PSinE jlre Candd

ol gl 2.6 394> )3 4S A8l 2 BLS| SPSA9 Hb (S )3 Cndd JiSIA>

® ©OemOoe ® @ 0 ©

B i LT i _
~@ 0.00

-0.20

__.e
] -0.60

~-@ -080

-1.00

-0.40

-1.20

-1.40

-1.60

8
1@,
O 180
@
S

-2.00
-2.20

-2.40

5 73 I 1 %

"

-2.60

GO S -1 S
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FOgealdisd Sl JAS
o & S (59) HLad OT 31 Gad 3 48 Al S95 4 Kilgs (2 S HLad auigi ¢ 037uS 3 35000 Sld 3 3
LSS 9l sl QTJAL;.\:QE)L@? SOl Slbiel ad 53 Coud opl Jgb aSST 43 oy e ¢ oy

ol 005 Sudiaidy Hlard Ogunnlligh ¢ bus plondl Jukoed 4 dzrg3 b

® © ® ® ©OWOO ® @ 0 O

B i [ i
-© 0.00

-0.50

-1.00

-1.50

_..G -2.00

-2.50

-3.00¢

-3.50

-4.00

8

= __8 -4.50
®
S

H 1 IH HHIHHIIIIIIIIIIIIIIIIIIIIIIII -5.00

-5.50

-6.00

AL
I

-6.50

D Ogawlaigh ) S Hlad JAS

ol 250 oy oabilie 5 085S 6.48 (S 05,0 Sl S35 53 9 3.24 &S Sl S5 )3 Ogualdiph 1) SIS jlme 25
Orzang Onday Slgiomd )3 0dd (e IS GlSy rizmad 9 Osenlisd 039 9 0o plal (IS 4 dr gl bl
(’)fjJ:.'SG.ZO 394> 33 Ogawldigh ) S 5o (&A_J}SL« U5 S 50 oiaS Slayid 5l Bd> Gl Jas e Jud=s pleil
(SPS27) .counn! bual ks paye Aoglilas 5

®© 0 L 0 6

Ogamslaigd 50 S 50 Guis -2 S

9-20-4-2

9-20-4-2




Oyl 3 )3

x= 1.3 —0.0003h _—>
Pmin=0.00153
USE: @ 25 —>

A ming = 331.6 cm?

A minL= 654.1 cm?

Pmin= 0.0025

25 —>
As,min = 505.8 sz

USE: @

_0.15/F, ;
Pt;s = f—
v

USE: @ 25 —>

Asmin=222.6 cm’

P Ogauliish JBIz gileyT (e

S400 t Qe b gy
USE: @ 25 D2 yplel
cover =75 mm
a=0.85
20078 9 3yt Oguuldigd (Sl
A, =491 cm?
——> n=68
S$=21.03 cm
——> n=134
S=21.16 cm
P Olg5 Ogaewllisd Sl
A=491 cm?
——> n=103.03
S$=13.88 cm
Pl 9 el gl
Pts= 0.00205396
A, =491 cm’
_— n=45.35
S=31.53 cm

F Olaloee 35 390 3,8 e 4/3 b )95 3 0> Sl (iwiS HgileyT

Pmin= 0.0015
USE: @ 25 —> A =491 cm?
Asming = 325.125  cm? _ n=67
S=21.34 cm
Asmint= 641.25  cm? _ n=131

S=121.64 cm

9-20-8

9-20-5

9-18-4-1-2

9-20-5




@b v JAS
tr=1.500 m = 59.06 in.
Main Rebar : o 25

s . 2 Al g 4
LS Ogiuw 2 L Oy GrS)]B Caundge
Vy=1.8E+07 N/mm? = 2610752 Kips HE\ITIPY
Ci= 1000 mm 239.38 in t Ogiuw pladie Slal
C,= 800 mm =315 in
Pl ghatie g Gos
cover =75 mm d= 28 mm
d= 1385 mm I 54.51 in
L harme slal
b1=1692.25 mm I 66.62 in
b,=21845 mm I 86.00 in
by = 5569 mm I 21925  in

fe=130 N/mm?

22.6




s Jobaiels [ Cad ol

1
Y2 = —_—> Yr= 0.6302
1+ (2/3)\/b1/b,
Yoo=1—-Yp2 —> Yr2= 0.3698
1
Yf3 = % Yf2= 0.5690
1+ (2/3)y/by/by
Yv3 = 1- yf3 _— Yf2= 0.4310
Critical section for
punching shear shown
¥ dashed,
d,/2 Cp /2|Co,/2 a7
A, | B
Side 2
Colurnmn—__ 3
[N
= g
L &
(=1
Center of column is / L =
point (x1, y1). Set _—"| o
this equal to (0,0). N
kS
| Zide 4
D C
Al Ogiw
Iltem Side 1 Side 2 Side 3 Side 4 Sum
Xy -43.002 0 43.00197 0 N.A
Y2 0 46.93898 0 -46.93897638 N.A
L 66.62402 | 86.00394 | 66.62402 | 86.00393701 305.26
d 54.50787 | 54.50787 | 54.50787 | 54.50787402 N.A
Ld 3631.533 | 4687.892 | 3631.533 | 4687.891763 16638.85
Ldx, -156163 0 156163.1 0 0
Ldy, 0 220044.8 0 -220044.8407 0
Ldx
x3=ZLd2 X3=0 in.
Ld
Y3 = —Z Y2 _—> Y3=0 in.
Ld
Iltem Side 1 Side 2 Side 3 Side 4 Sum
L 66.62402 | 86.00394 | 66.62402 | 86.00393701 N.A
d 54.50787 | 54.50787 | 54.50787 | 54.50787402 N.A
Xp"X3 -43.002 0 43.00197 0 0
Y2Y3 0 46.93898 0 -46.93897638 N.A
Parallel to y X y X N.A
Ixx 2242432 (10328680 2242432 | 10328679.58 25142223
lyy 6715320 | 4050255 | 6715320 | 4050254.692 21531150
Ixy 0 0 0 0 0

ACI-1113.5.3.1 &2

SAFE RC Design Check for Punching Shear

SAFE Verification EXAMPLE ACI 318-11 RC-PN-001




_ Ld® dI3
I, = 17 + 17 + Ld(y, —y3)*  (for the side of the critical section parallel to the 3-axis)

L, = Ld(y, — y3)?  (for the side of the critical section parallel to the 2-axis)

I35 = Ld(x, — x3)?  (for the side of the critical section parallel to the 2-axis)

_ Ld® dL?
I33 = 17 + eV + Ld(x, — x3)?>  (for the side of the critical section parallel to the 3-axis)

L3 = Ld(x, — x3)(y, —y3)  (for side of critical section parallel to 2-axis or 3-axis)

: SAFE 31 a3 390 0,8 malis

SHEAR FORCE :

Vu=0919.44  Kip

Moment My, :
Myz = 641.9 Kip.ft
Mys = 1685.7  Kip.ft

Unbalanced Moment My, :

Y..Myz = 2848.398 Kip.in
YsMys = 8718.039  Kip.in

7702.8 Kip.in
20227.8  Kip.in

Vu
_ i n Yo2[Myz = Vy(y3 — y)lll33(va — y3) — I3 (x4 — x3)]
bod Ipplss — Ips”

B Yus[Myz — Vy(xz — x)][l22 (x4 — x3) — Lr3(Vs — y3)]

Ipplss — Ip3?

Point A B C D
Xq -43.0019685 | 43.00197 | 43.0019685 -43.002
Ya 46.93897638 | 46.93898 | -46.93897638 | -46.939

@ Point A: Vu=0.076934246 0.00532 -0.0174 = 0.06485 Ksi
@ Point B : Vu=0.076934246 0.00532 0.0174 = 0.09967 Ksi
@ PointC: Vy=0.076934246 -0.00532 0.0174 = 0.08903 Ksi
@ Point D : Vu=0.076934246 -0.00532 -0.0174 = 0.05421 Ksi

Vymax = 0.0997 Ksi

GO (% Cudyls dwlxe

40 for interior columns,

as =430 for edge columns, and E— 5= 30
20 for corner columns. Bc=1.25
4 . @-0.75
Ol2t+g W Ve = 0.2573
- > Vo = v, = ;
V. = min o 2_l_asd W cz_ 0.4679 —> Vc=0.198 Ksi
by fe Ves = 0.1979
P4 f'¢
DL Y i
Shear Ratio = Vuymax _— Shear Ratio = 0.504

Ve

SAFE RC Design Check for Punching Shear

SAFE Verification EXAMPLE ACI 318-11 RC-PN-001

ACl-1111.11.2.1




F=1/2sin@AH

: (sl Cagzyd - (g5 (il HLad
225 Ugayd 3l ooliial b 3 43 30 Sk sl S8l sl 5 T/m* 4 by S pogmass 03s 028 b
el 0 M)f).h}).) Sk Gos S9luw Hlgd p ylg S Hlad

b (2 ETABS 4ol (29,5 ¢ 1) Jgudz 5o 31 Slag s gls

Story |Soil Load

STORY Elev. Heigth | (T/m?) M22 (KN.m) [ M11 (KN.m) V23 (KN)
G.F 0 0 0.0 0 0 0
ST-1 -3.05 -3.05 3.1 50 45 50
ST-2 -6.75 -3.7 6.8 65 125 115
ST-3 -10.15 -3.4 10.2 110 165 150
ST-4 -13.85 -3.7 13.9 125 250 285




f'e= 29.4
fy=392.3
Es= 2.0E+05
Ec= 26621.4
n=7.51
Ye= 25

if: f'. <30MPa — B, = 0.85

Mpa
Mpa
Mpa
Mpa

KN/m?

) 0.05
if: f'. >30MPa - B; = 0.85 —7(f'c —30) > 0.65

Bl = 0.85
€.= 0.0035
My = 165 KN.m
h =500 mm
b = 1000 mm
@=09 -
COVER =75 mm
TRANSVERSE REBARS : 22 mm
cdianS 3,8s0 03000 Sl ;1
d= 403 mm
d; = 403 mm
d'=97 mm
m= Iy -
0.85f";
oo M My
" bd?  Qbd?
1 1 1 2mR,,
p=—31— - E—
m fy
. f'
Pmax = 0364 ——=  ——>
fy
RO<RO,max —_—
de f'
Pt =0319p—== >
fy
As,tcl = prabd >
_—

~ 14 0.25\/f";
Pmin = max{fy ’ fy }

As,min = pminbd _—

USE: @ 22 @ 250

o

s

:EJL,a.noL;a;'uim

L bbb S

:cb.a.n” IR Olaxivw

D ate 2k

m= 15.69

R, = 1.13
p = 0.00295

Pmax= 0.023
USE : As

P = 0.020
Ast= 819551 mm?

Pmin = 0.0036

t S8l 3,8e alaie mhaw

=143831 mm’
A;=1900.7 mm’ oK
Areq. = 1187.16  mm? oK

ACI-02-10-5




1315 990 3,Skie latie o

As = max{Agmin, Asreq) —> As= 143831 mm?
USE o 16 @ 275 As=1864.4  mm? OK
ADD o 16 @ 275 } 5 Pused = 0.00463
n=9

tie - @ =0.65
spiral - @ = 0.7

tie - @ = 0.483 + 83.3¢;
spiral — @ = 0.567 + 66.7¢;

ifie <0.002 > {

if :+0.002 <& <0.005 - {
if : &2=0.005—-> 0=09

e @=09
My, = Q)pbdzfy (1 —0.59 ]j:_f’> e My, = 255602623.1 N.mm
c
1
AMy =My —Mpy = E(Mu - Myy) EE— AM, =0 N.mm
AM, = 0.0 KN.m
fu __C —> 151.13
0.005 d;—c €= h mm
O — £, = 0.001253515
c
g,= 0.002 EE— f's <fly
7d’ "
f'se = 600(1 — §d_) <f E— f's= 263.03 Mpa
t
AAsfy(d —d') = AM, —_—> AA,= 0.00 mm’
Z F=0- Af'; = My, — > A.=000 mm?
USE : ? 2 @ 250 —> A's = 1900.66 mm?

Ag = Agy + AAg —_—> A = 81955 mm?




: adae )3 Ghys JAS
: aa)] o @Whas Slasin

M = 245 kgf/m3 } ;"fg‘mzobb e
W = 2400 ke/m? = 2.4 KN/m DR e a9 09
: i Jydo
1.5
E. = (3300/f"; + 6900) (Zy—;) ——>  Ec= 266409 igf/m?

—> Ec=264340 Mpa
U=0.15 - Ogwlsr oo
A = 9.90E-06 1/C s> bladdl cupe
f'c= 3000000 kgf/m? ——> fc=2942  Mpa D G)lad Cglie

—> f=36259 psi
Jsb sygila)] —>  f,=392.266 N/mm?’
w2 Slygile)] —>  fw=300 N/mm’
D O =
: gaio ol

h =500 mm COVER= 75 mm

b = 1000 mm d=425 mm
Dt n yly sla

V, = 285 KN £285000 N
V. = 0.17A{/f' b, d —> Ve=391885 N
Jf.<83MPa —> fle= 14w —> oK
?=0.85

W <0 (Ve +0.066fcbyd) —> OK

IF: V, < @V. > N.N.
IF: V, > @

V. — transverse reinforcement shall be provided

@V, = 333102 N
_— Vu < @Vc, Shear Reinforcement is not needed
4 -
v, = i v, —> Vi=-
%4 =A"f_ytd E— ﬂ -
s s s
Use @12 @ 250
ﬂ - - — V,=- N
S
v, = V41, —> Vn=391885 N
v =gy, —> Vr=333102 N

DCR = 0.856

ACI318-14-22.5
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